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HIT THE BULL’S EYE 
TEST XXXIv PREMODEL VII 

(INDIAN NATIONAL MOVEMENT, ROLE OF TAMILNADU IN FREEDOM STRUGGLE AND 
APTITUDE AND MENTAL ABILITY) 

 
1. Who laid down “Four articles of faith”? 

a. Raja Rammohan Ray  b. Maharishi Debendranath Tagore 
c. Keshab Chandra Sen   d. Ishwar Chandra Vidyasagar 
e. Answer not known 
ahh; 'ek;gpf;if gw;wpa ehd;F nfhs;iff; $Wfis' Kd;itj;jhh;?  
a. uh[h uhk;Nkhfd; uha;   b. kfhp~p NjNte;jpuehj; jh$h; 
c. Nrrg; re;jpu nrd;   d. <];th; re;jpu tpj;ahrhfh;  
e. tpil njhpatpy;iy 

 
2. Who was the founder of Deccan Education Society (1884)? 

a. M.G. Ranade b. Devendranath Tagore   c. Jyotiba Phule   
d. Ayyankali   e. Answer not known 
ahh; jf;fhzf; fy;tpf;fofk; (1884) mikg;ig epWtpdhh;?  
a. M.G. uhdNl b. NjNte;jpuehj; jh$h;   c. N[hjpgh G+Ny  
d. ma;ad;fhsp  e. tpil njhpatpy;iy 

 
3. Choose the correct statement:  

1. Annie Besant played a role in Indian nationalist politics  
2. She formed the home rule league demanding home rule to India on the line 

of Finland  
3. She spread theosophical ideas through her newspaper called new India and 

commonweal 
a. 1 correct   b. 2 correct    c. 1, 3 correct    
d. 2, 3 correct   e. Answer not known 
rhpahd $w;iw Njh;T nra;f.  
1. md;dp ngrd;l; ,e;jpa Njrpa murpaypy; Kf;fpaj;Jtk; ngw;W tpsq;fpdhh;.  
2. mth; jd;dhl;rp ,af;fr; rq;fj;ij mikj;J gpd;yhe;jpw;F toq;fg;gl;lijg; 

Nghy ,e;jpahtpw;Fk; jd;dhl;rp toq;fg;gl Ntz;Lnkd;W Nfhhpf;if 
itj;jhh;.  

3. gpuk;kQhdf; fUj;Jf;fisj; jd;Dila epA+ ,e;jpah (New India)> 
fhkd;tPy; vDk; nra;jpj;jhs;fspd; %yk; gug;gpdhh;.  

a. 1 rhp  b. 2 rhp    c. 1, 3 Mfpad rhp  
d. 2, 3 Mfpad rhp  e. tpil njhpatpy;iy 
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4. When did the Viswanatha Nayaka, became the Nayak ruler of Madurai? 
a. 1527 b. 1528 c. 1529  d. 1530     e. Answer not known 
vg;NghJ tp];tehj ehaf;fh; kJiu ehaf;fuhf gjtpNaw;whh;? 
a. 1527 b. 1528 c. 1529  d. 1530     e. tpil njhpatpy;iy 

 
5. Who aided the Palayakkarars of Tirunelveli led by puli thevar against the 

Nawab‟s authority? 
a. Raja of Pudukkottai b. Raja of Seithur  c. Raja of Travancore 
d. Raja of Uthumalai  e. Answer not known 
Gypj;Njth; jiyikapyhd jpUney;Ntyp ghisaf;fhuh;fs; ethgpd; mjpfhuj;ij 
vjph;g;gjw;F ahh; Mjutspj;jhh;? 
a. GJf;Nfhl;il kd;dh; b. Nrj;J}h; kd;dh;  c. jpUtpjhq;$h; kd;dh; 
d. Cj;Jkiy kd;dh; e. tpil njhpatpy;iy 

 
6. Who was the first female ruler or queen to resist the British colonial power in 

India? 
a. Jhansi Rani  b.Udaiyaal   c. Velunachiyar  
d. Vellachinachiar  e. Answer not known 
,e;jpa ehl;by; gphpl;b~; fhydpahjpf;f mjpfhuj;ij vjph;j;j Kjy; ngz; 
Ml;rpahsh; my;yJ murp ahh;? 
a. [hd;rp uhzp  b. cilahs;   c. NtYehr;rpahh;  
d. nts;sr;rp ehr;rpahh;  e. tpil njhpatpy;iy 

 
7. Who ordered the release of Sivasubramanianar and the suspension of collector 

Jackson? 
a. Edward clive  b. William Brown  c. William Oram  
d. John Casamajor     e. Answer not known 
ahh; rptRg;ukzpadhiu rpiwapypUe;J tpLtpj;Jk;> fnyf;lh; [hf;]idg; gzp 
,ilePf;fk; nra;Jk; cj;jutpl;lhh;? 
a. vl;th;l; fpist;  b. tpy;ypak; g;nusd;  c. tpy;ypak; Xuk;  
d. [hd; fh]hNk[h;  e. tpil njhpatpy;iy 

 
8. Consider the following statements about South Indian Rebellion? 

1. Oomathurai and Sevathaiah were captured and beheaded on 16 November 
1800. 

2. Seventy – three rebels were exiled to penang in Malaya.  
a. 1 correct, 2 incorrect b. Both are correct  c  Both are incorrect  
d. 1 incorrect, 2 correct e. Answer not known 
njd;dpe;jpa fpsh;r;rp Fwpj;j gpd;tUk; $w;wfis Muha;f 
1. Cikj;JiuAk;> nrtj;ijahTk; gpbf;fg;gl;L 1800 etk;gh; 16 ,y; 

ghQ;rhyq;Fwpr;rpapy; jiy Jz;bf;fg;gl;ldh;. 
2. fyff;fhuh;fspy; 73 Ngh; gpbf;fg;gl;L kNyahtpd; gpdhq;fpw;F ehL 

flj;jg;gl;lhh;fs;. 
a. $w;W 1 rhp> $w;W 2 jtW b. ,U $w;WfSk; rhp 
c  ,U $w;WfSk; jtW  d. $w;W 1 jtW> $w;W 2 rhp 
e. tpil njhpatpy;iy 
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9. Match the following: 
A. Wahabi Rebellion   1. 1855  
B. Santhal Hool    2. 1827 
C. Farazi Movement   3. 1831-1832 
D. Kol Revolt    4. 1818 
 A B C D 
a. 1 2 4 3 
b. 2 1 4 3 
c. 2 1 3 4 
d. 4 2 1 3 
e. Answer not known 
A. th`hgp fpsu;r;rp   1. 1855 
B. rhe;jyu;fspd; fpsu;r;rp  2. 1827 
C. /guhrp ,af;fk;    3. 1831-1832 
D. Nfhy; fpsu;r;rp   4. 1818 
 A B C D 
a. 1 2 4 3 
b. 2 1 4 3 
c. 2 1 3 4 
d. 4 2 1 3 
e. tpil njhpatpy;iy 

 
10. Munda people were familiar with the co-operative or collective farming known 

as ________ land system  
a. Khuntkatti  b. Bethbegari   c. Birsaite    
d. Jhum Cultivation   e. Answer not known 
$l;lhf epyj;ij itj;Jf;nfhz;L __________ vd;w Kiwapy; tptrhak; 
nra;tjpy; Kz;lh kf;fs; ngau;ngw;wtu;fs;  
a. Fz;l;fl;b   b. ngj;ngfhup   c. gpu;irl;b    
d. [{k; gaphpLk; Kiw e. tpil njhpatpy;iy 

 
11. Raj Kumar Shukla and Brajkishore Prasad, are related with _______ 

a. Champaran Satyagraha  b. Kheda Satyagraha  
c. Rowlatt Satyagraha   d. Ahmedabad Mill Strike  
e. Answer not known 
uh[;Fkhh; Rf;yh kw;Wk; gpu[;fpN~hh; _________ cld; njhlh;Gilath;fs; 
a. rk;guhd; rj;jpahfpufk;   b. Nfjh rj;jpahfpufk;  
c. nusyl; rj;jpahfpufk;   d. mfkjhghj; kpy; Nghuhl;lk; 
e. tpil njhpatpy;iy 

 
12. When did Swaraj Party withdrew from the legislature? 

a. 1922  b. 1924   c. 1926   
d. 1928  e. Answer not known 
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vg;NghJ rl;lg;Nguitfspy; ,Ue;J Rauh[;[pa fl;rp tpyfpf; nfhz;lJ?  
a. 1922  b. 1924   c. 1926   
d. 1928  e. tpil njhpatpy;iy 

 
13. Which among the following is not the charter of demands presented to the 

viceroy Lord Irwin? 
a. Introduction of total prohibition b. Release of all political prisoners  
c. Reduction of land revenue by 70% d. Abolition of salt tax.     
e. Answer not known 
fPo;f;fz;ltw;wpy; (itrpuha;) ,h;tpd; gpuGtplk; nfhLf;fg;gl;l kDtpy; mlq;fhj 
Nfhhpf;if vJ?  
a. KOikahd Gwf;fzpg;ig mwpKfk; nra;tJ 
b. midj;J murpay; ifjpfisAk; tpLjiy nra;tJ  

c. epytUthia 70 rjtpfpjkhf Fiwg;gJ 
d. cg;G thpia uj;J nra;tJ 
e. tpil njhpatpy;iy  
 

14. The Distance covered by Gandhi to reach Dandi on salt satyagraha Movement 
was__________ 24days. 
a. 241miles  b. 251miles   c. 261miles   
d. 281miles   e. Answer not known 
cg;G rj;jpahfpuf ,af;fj;jpy; jz;bia mila fhe;jpahy; ftug;gl;l njhiyT 
24 ehl;fspy; ________.  
a. 241 iky;fs; b. 251 iky;fs;  c. 261 iky;fs;  
d. 281 iky;fs;  e. tpil njhpatpy;iy 

 
15. Who organised the khudai khidmatgar also known as Red shirts? 

a. Mohammad Ali  b. Shaukat Ali c. Khan Abdul Ghaffar khan 
d. syed Ahmed khan e. Answer not known 
nrQ;rl;ilfs; vd;wiof;fg;gl;l 'Fil fpl;kl;fh;' ,af;fj;ij elj;jpath; ahh;?  
a. KfkJ myp  b. nrsfj; myp c. fhd; mg;Jy; f/ghh; fhd; 
d. iraJ mfkJ fhd;  e. tpil njhpatpy;iy 
 

16. Gandhi-Irwin pact was signed on _________ 
a. 5 March 1931  b. 6 Mach 1931   c. 5 May 1931  
d. 6 May 1931  e. Answer not known 
_______ ,y; fhe;jp ,h;tpd; xg;ge;jk; ifnaOj;jhdJ?  
a. 1931 khh;r; 5  b. 1931 khh;r; 6   c. 1931 Nk 5  
d. 1931 Nk 6   e. tpil njhpatpy;iy 

 
17. Consider the following statement about Congress 

1. In 1937 elections, congress emerged victorious in seven out of the eleven 
provinces. 

2. It formed Ministries in 8 provinces.    
3. In Assam, it formed a coalition government. 
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a. 1, 2, 3 are correct  b. 1, 2 are correct   c. 2, 3 correct   
d. 1, 3 correct     e. Answer not known 
fhq;fpu]; gw;wpa gpd;tUk; $w;Wfis Ma;f.  
1. 1937 Mk; Mz;L Njh;jypy;> gjpNdhU khfhzq;fspy; Nghl;bapl;L VO 

kfhzq;fspy; fhq;fpu]; ntw;wp ngw;wJ.  
2. vl;L khfhzq;fspy; mJ Ml;rp mikj;jJ  
3. mrhkpy;> xU $l;lzp murhq;fj;ij cUthf;fpaJ. 
a. 1, 2, 3 rhp    b. 1, 2 rhp    c. 2, 3 rhp   
d. 1, 3 rhp    e. tpil njhpatpy;iy 

 
18. Acharya Vinobha Bhave was the first to offer Individual Satyagraha 

on_________ 
a. 17 October 1940   b. 17 November 1940  c. 18 October 1940 
d. 18 November 1940 e. Answer not known 
________ Mk; ehs; Mr;rhhpah tpNdhgh ghNt jdpegh; rj;jpahfpufg; 
Nghuhl;lj;ij Kjd; Kjyhf Muk;gpj;jhh;.  
a. 1940 mf;Nlhgh; 17  b. 1940 etk;gh; 17   c. 1940 mf;Nlgh; 
18 
d. 1940 etk;gh; 18   e. tpil njhpatpy;iy 

 
19. When did the All India Congress Committee that met at Bombay passed the 

famous quit India Resolution? 
a. 6 August 1942  b. 8August 1942   c. 4 October1942 
d. 8 October1942  e. Answer not known 
gk;ghapy; $ba mfpy ,e;jpa fhq;fpu]; fkpl;b nts;isaNd ntspNaW 
jPh;khdj;ij vg;NghJ epiwNtw;wpaJ?  
a. 1942 Mf];L 6  b. 1942 Mf];L 8   c. 1942 mf;Nlhgh; 
4 
d. 1942 mf;Nlhgh; 8  e. tpil njhpatpy;iy 

 
20. Who are the member of the defence committee set up by the congress on INA 

trial? 
a. Gandhi, Nehru, Asaf Ali     
b. Nehru, Bhulabhai Desai, Asaf Ali  
c. Gandhi,  Bhulabhai Desai, Tej Bahadur Sapru  
d. Nehru, Tej Bahadur Sapru, Rajaji  
e. Answer not known 
I.vd;.V. tprhuizf;fhf> fhq;fpu]hy; mikf;fg;gl;l ghJfhg;Gj;Jiw fkpl;b 
cWg;gpdh;fs; ahh;? 
a. fhe;jp> NeU> Mrg; myp  
b. NeU> Gyhgha; Njrha;> Mrg; myp 
c. fhe;jp> Gyhgha; Njrha;> Nj[; g`J}h; rhg;& 
d. NeU> Nj[; g`J}h; rhg;&> uh[h[p  
e. tpil njhpatpy;iy 
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21. In the first session of the Indian National congress, out of a total 72 delegates 
how many members were from Madras? 
a. 20   b. 21  c. 22  d. 23  e. Answer not known 
,e;jpa Njrpaf; fhq;fpurpd; Kjw;$l;lj;jpy; fye;J nfhz;l nkhj;jk; 72 
gpujpepjpfs; nrd;idiar; Nrh;e;Njhuhth;?  
a. 20   b. 21  c. 22  d. 23  e. tpil njhpatpy;iy 

 
22. During Swadeshi Movement, which extremist leader toured Madras and 

delivered lectures? 
a. Lala Lajpat Raj  b. Bipin Chandra pal  c. Bala Gangadar Tilak 
d. S. Subramaniar   e. Answer not known 
RNjrp ,af;fj;jpd;NghJ ve;j jPtpu Njrpathjj; jiyth; nrd;idapy; 
Rw;Wg;gazk; Nkw;nfhz;L nrhw;nghopT Mw;wpdhh;?  
a. yhyh y[;gj; uha; b. gpgpd; re;jpughy;   c. ghy fhq;fhjh; jpyf; 
d. S. Rg;gpukzpadhh;  e. tpil njhpatpy;iy 

 
23. Consider the following 

1. Swadeshi steam Navigation Company was launched by 
 V.O.C at Thoothukudi 

2. He purchased two ships Gallia and Lavo and piled them between 
Thoothukudi and Colombo. 

a. 1, 2 are correct   b. only 1 is correct   c. only 2 is correct   
d. 1,2 are in correct.  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f.  
1. RNjrp ePuhtp fg;gy; epWtdk; t.c.rp. My; J}j;Jf;Fbapy; njhlq;fg;gl;lJ.  
2. ,th; fhypah kw;Wk; yhNth vDk; ,U fg;gy;fis tpiyf;F thq;fp 

mtw;iw J}j;Jf;Fbf;Fk; nfhOk;Gf;FkpilNa Xl;bdhh;. 
a. 1, 2 rhp    b. 1 kl;Lk; rhp   c. 2 kl;Lk; rhp 
 d. 1, 2 jtW    e. tpil njhpatpy;iy 

  
24. Which of the following statements about Annie Besant and the Home Rule 

Movement was /were correct? 
1. Proposed Home Rule Movement on the model of Irish Home Rule 

League. 
2. G.S Arundale, B.P. Vadia and C.P. Ramaswany assisted her in this 

campaign. 
3. She started the newspapers new India and Commonweal and she wrote 

three books. 
4. She was elected as the president of the congress session of 1917. 

a. 1, 2, 3, 4 are correct b. 2, 3, 4 are correct  c. 1, 2, 4 are correct  
d. 1, 2, 3 are correct   e. Answer not known 
md;dpngrd;l; mk;ikahUk; jd;dhl;rp ,af;fKk; gw;wp gpd;tUk;  $w;Wfspy; 
vit rhpahdit?  
1. mah;yhe;jpd; jd;dhl;rp mikg;Gfis mbnahw;wp jd;dhl;rp ,af;fj;ij 

Kd;nkhope;jhh;.  
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2. ,r;nray; jpl;lj;jpy; G.S. mUz;Nly;> B.P. thbah kw;Wk; C.P. uhkrhkp 
MfpNahh; mtUf;Fj; Jiz epd;wdh;. 

3. epA+ ,e;jpah> fhkd; tPy; vDk; ,uz;L nra;jpj;jhs;fisAk; %d;W 
Gj;jfq;fisAk; njhlq;fpdhh;.  

4. 1917 ,y; eilngw;w fhq;fpu]; khehl;bw;F md;dpngrd;l; jiytuhfj; 
Njh;Tnra;ag;gl;lhh;.  

a. 1, 2, 3, 4 rhp   b. 2, 3, 4 rhp    c. 1, 2, 4 rhp  
d. 1, 2, 3 rhp    e. tpil njhpatpy;iy 

 
25. Choose the correct statement 

i. The last INC session in present day Pakistan was conducted on 1931 
ii. The last INC session in present day Pakistan was conducted in Karachi 
a. i only   b. ii only   c. Both i and ii   
d. None   e. Answer not known 
rhpahd $w;iwj; Njh;e;njL.  
i. ,d;iwa ghfp];jhdpy; 1931-y; filrp INC khehL eilngw;wJ.  
ii. ,d;iwa ghfp];jhdpy; cs;s fuhr;rpapy; filrp INC khehL eilngw;wJ.  
a. i kl;Lk;  b. ii kl;Lk;    c. i & ii ,uz;Lk;   
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
26. The National Council of education was formed in which year? 

a. 5 August 1906  b. 5 November 1905  c. 5 October 1905  
d. 5 September 1906  e. Answer not known 
Njrpa fTd;rpy; fy;tp ve;j Mz;L Njhw;Wtpf;fg;gl;lJ?  
a. 5 Mf];l;> 1906   b. 5 etk;gh; 1905   c. 5 mf;Nlhgh; 1905  
d. 5 nrg;lk;gh;> 1906  e. tpil njhpatpy;iy 

 
27. Who among the following founded the Dhaka Anushilan family in 1906? 

a. Jatindernath Banerjee b. V.D. Savarkar   c. Pulin Das  
d. Rashbehari Ghose e. Answer not known 
1906-y; lhf;fh mDrpyhd; rkpjpia Njhw;Wtpj;jth; ahh;?  
a. [pNje;jpuehj; ghdh;[p b. ghpe;jpuFkhh; Nfh~;   c. G+ypd; jh]; 
d. V.D. rhth;f;fh;  e. tpil njhpatpy;iy 

 
28. Choose the correct statement: 

1. The sister Nivedita, an Irish woman inspired Subramania Bharati  
2. Bharati‟s Gurumani was Swami Vivekananda  
a. 1 only   b. 2 only   c. Both 1 and 2  
d. None      e. Answer not known 
rhpahd $w;iwj; Njh;e;njLf;fTk;  
1. mah;yhe;J ngz;kzpahd rNfhjhp epNtjpjh Rg;ukzpa ghjpahuhy; nghpJk; 
kjpf;fg;gl;lhh;.  
2. Rthkp tpNtfhde;jh; ghujpahhpd; FUkzpahthh;  
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2 ,uz;Lk; 
d. vJTkpy;iy   e. tpil njhpatpy;iy 
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29. The Swadeshi leaders of Tamil Nadu celebrated „Swarajya Day‟ for whose 
release from jail? 
a. B.G Tilak    b. Lala Lajpat Rai   
c. Bipin Chandra Pal       d. V.O Chidambaram Pillai  
e. Answer not known   
jkpo;ehl;bd; RNjrp jiyth;fs; ahUila tpLjiyia Rauh[;a ehshff; 
nfhz;lhbdh;?  
a. B.G. jpyfh;   b. yhyh y[gjp uha;  c. gpgpd; re;jpughy;  
d. V.O. rpjk;guk; gps;is   

 
30. Who declared that “the price of India‟s loyalty is India‟s freedom”? 

a. Gopal Krishna Gokalae   b. Mahatma Gandhi  
c. Subhas Chandra Bose   d. Annie Besant    
e. Answer not known 
,e;jpa tpLjiyNa ,e;jpa tpRthrj;jpd; tpiyahFk;" vd;W mwptpj;jth; ahh;?  
a. Nfhghy fpU~;z NfhfNy  b. kfhj;kh fhe;jp  
c. Rgh~; re;jpu Ngh];  d. md;dp ngrz;l;  
e. tpil njhpatpy;iy 

 
31. Who among the following gave the call “The moment of England‟s difficulty is 

the moment of India‟s opportunity” 
a. Subhas Chandra Bose   b. B.G Tilak    c. Annie Besant  
d. Bhagat Singh    e. Answer not known 
gpd;tUgth;fSs; ",q;fpyhe;jpd; fbdkhd jUzkhdJ ,e;jpahtpw;fhd 
tsh;g;ghFk;" vd;W $wpath; ahh;?  
a. Rgh~; re;jpu Ngh];  b. B.G. jpyfh;   c. md;dpngrz;l; 
d. gfj;rpq;     e. tpil njhpatpy;iy 

 
32. Choose the correct statement: 

1. Tilak went to Britain in September 1918 to pursue the libel case that he had 
filed against Valentine Chirol  

2. The Valentine Chirol is the author of Indian unrest  
a. 1 only  b. 2 only    c. Both 1 and 2   
d. None     e. Answer not known 
rhpahd $w;iwj; Njh;e;njLf;fTk;.  
1. jpyfh;> thyd;ild; ifuYf;F vjpuhf mtuhy; njhlug;gl;l mtJ}W 

tof;ifj; njhlUk; nghUl;L> nrg;lk;gh; 1918 y; gphpl;lDf;Fr; nrd;whh;  
2. thyd;ild; ifuy; ,e;jpa mikjpapd;ik vDk; Gj;jfj;ij vOjpath; 
a. 1 kl;Lk;  b. 2 kl;Lk;    c. 1 kw;Wk; 2 kl;Lk;  
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

33. Who was the president of INC in 1916 session at Lucknow? 
a. Dadabhai Naoroji   b. Annie Besant  
c. Motilal Nehru   d. Ambika Charan Mazumdar    
e. Answer not known 
1916-y; eilngw;w yf;Ndh khehl;bd; jiyth; ahh;?  
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a. jhjhgha; nesNuh[p  b. md;dp ngrz;l;  
c. Nkhjpyhy; NeU    d. mk;gpfh ruz; k[Pk;jhh;  
e. tpil njhpatpy;iy 

 
 
34. Who among the following held their annual session in 1916 at Lucknow? 

1. The INC    2. The Muslim League  
3. The home Rule league     4. The India league  
a. All the above  b. 1, 2 and 3 only  c. 1, 3 and 4 only   
d. 2, 3 only   e. Answer not known 
gpd;tUgtw;Ws; 1916-y; yf;Ndhtpy;> mtw;wpd; Mz;bw;fhd khehl;il 
elj;jpait vit?  
1. ,e;jpa Njrpa fhq;fpu];  2. K];yPk; yPf;  
3. jd;dhl;rp fofk;    4. ,e;jpa yPf;  
a. midj;Jk;  b. 1, 2 kw;Wk; 3 kl;Lk;  c. 1, 3 kw;Wk; 4 kl;Lk; 
d. 2, 3 kl;Lk;   e. tpil njhpatpy;iy 

 
35. Choose the correct statements regarding the Lucknow pact  

1. Dominion status with imperial affairs 
2. The relations of the secretary of state with the government of India should 

be similar to those of the colonial secretary with the governments of the 
dominions  

a. 1 only  b. 2 only   c. Both 1 and 2    
d. None        e. Answer not known 
yf;Ndh cld;ghl;bd; gb rhpahd $w;iwj; Njh;e;njLf;fTk; 
1. Vfhjpgj;jpaj;Jldhd nlhkpdpad; me;j];J 
2. khepy nrayUf;Fk; ,e;jpa murhq;fj;Jf;Fk; ,ilapyhd cwthdJ 
nlhkpdpa murhq;fk; kw;Wk; fhydpf;fhd nrayhpd; cwit xj;jJ  
a. 1 kl;Lk;  b. 2 kl;Lk;    c. 1 kw;Wk; 2 kl;Lk;  
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

36. Find the volume of the iron used to make a hollow cylinder of height 9 cm and 
whose internal and external radii are 21 cm and 28 cm respectively. 
a. 9702 cm3  b.9027 cm3   c. 9270 cm3   
d. 9720 cm3  e. Answer not known 
Xh; cs;sPlw;w cUisapd; cauk;> cl;Gw kw;Wk; ntspg;Gw Muq;fs; KiwNa 
9 nr.kP> 21 nr.kP kw;Wk; 28 nr.kP MFk;. cUisia cUthf;fj; Njitg;gLk; 
,Uk;gpd; fd msitf; fhz;f 

a. 9702 cm3  b.9027 cm3   c. 9270 cm3   
d. 9720 cm3  e. tpil njhpatpy;iy 
 

37. Replace the letter by symbols as + for A, - for B, x for C, ÷ for D, find the answer 
for the pattern 4B3C5A30D2 by doing the given operations. 
a. 3  b. 4  c. 5  d. 0 e. Answer not known 

 A ,f;Fg; gjpy; + vdTk; B ,f;Fg; gjpy; - vdTk; C ,f;Fg; gjpy; x  vdTk; D 
 ,f;Fg; gjpy; ÷ vdTk; vLj;Jf; nfhz;lhy; 4B3C5A30D2 vd;w mikg;gpd; 
 tpiliaf; fhz;f. 
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 a. 3  b. 4  c. 5  d. 0 e. tpil njhpatpy;iy  
 

38. The first term of an arithmetic progression is unity and the common difference 
is 4. Which of the following will be a term of this A.P  

 a. 4551  b. 10091   c. 7881   
d. 13531   e. Answer not known 
xU $l;Lj; njhlh;thpirapd; Kjy; cWg;G 1 kw;Wk; nghJ tpj;jpahrk; 4 vdpy;> 
gpd;tUk; vz;fspy; vJ ,e;jf; $l;Lj; njhlh;thpirapy; mikAk;? 

 a. 4551  b. 10091   c. 7881   
d. 13531   e. tpil njhpatpy;iy 

 

39. The H.C.F. of 
8 12 32

, ,
21 35 7

is 

 a. 
4

105
   b. 

192

7
    c. 

4

7
    

d. 
5

109
   e. Answer not known 

 

8 12 32
, ,

21 35 7
 - d; kP.ngh.t 

 a. 
4

105
   b. 

192

7
    c. 

4

7
    

d. 
5

109
   e. tpil njhpatpy;iy

 
 

40. If 

1
1 3

2
x

p q

q p



   
   

   
then find the value of x. 

 a. 4-1  b. 3-1  c. 2-1  d. 1-1  e. Answer not known 

 

1
1 3

2
x

p q

q p



   
   

   
vdpy; x -d; kjpg;G fhz;f 

a. 4-1  b. 3-1  c. 2-1  d. 1-1  e. tpil njhpatpy;iy 
 

41. Which viceroy created the criminal intelligence department to secretly collect 
information? 
a. Lord Rippion   b. Lord Minto  c. Lord Curzon   
d. Lord Irwin   e. Answer not known 
1903-y; ufrpakhfj; jfty;fisr; Nrfhpg;gjw;fhf Fw;wtpay; Gydha;T Jiwia 
mikj;j itrpuha; ahh;?  
a. hpg;gd; gpuG   b. kpz;Nlh gpuG   c. fh;rd; gpuG   
d. ,h;tpd; gpuG   e. tpil njhpatpy;iy 

 
42. Who was known as the chief architect of Lucknow Pact? 

a. Jawaharlal Nehru  b. A.C Majumdar  c. Muhamad Ali Jinnah 
d. Annie Besant      e. Answer not known 
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yf;Ndh cld;ghl;il tbtikj;j jiyikr; rpw;gp vd mwpag;gLgth; ahh;?  
a. [t`h;yhy; NeU  b. A.C. k[Pk;jhh;   c. KfkJ myp [pd;dh  
d. md;dp ngrz;l;  e. tpil njhpatpy;iy 

 
 
43. The AITUC (All India Trade Union Congress) was established under whose 

chairmanship? 
a. Sasipada Banerjee  b. N.M Lokhanday  c. Lala Lajpat Rai   
d. B.G Tilak     e. Answer not known 
AITUCC (midj;jpe;jpa njhopw;rq;f khehL) ahUila jiyikapd; fPo; 
cUthf;fg;gl;lJ? 
a. rrpghj ghdu;[p  b. N.M. Nyhfz;Nl  c. yhyh y[pgjpuha;  
d. B.G. jpyfu;   e. tpil njhpatpy;iy 

 
44. The European planters who had bound the peasants to compulsorily grow 

indigo on lease on _________ of their fields  

a.      ⁄    b.      ⁄     c.       ⁄    

d.       ⁄    e. Answer not known 
[Nuhg;gpa Njhl;lfhuu;fs;> tptrhapfis Fiwe;jfgl;rk; jq;fs; tay;fspy; 
_______ mstpw;F ,z;bNfhit tsh;f;f fl;lhag;gLj;jg;gl;ldh;.  

1.
20

a gq;F   1.
10

b gq;F   13.
20

c gq;F   

3.
20

d gq;F    e. tpil njhpatpy;iy 

 
45. Match the following: 

A. Ahmedabad Mill worker‟s Strike 1. First civil disobedience movement   
B. The Kheda Struggle    2. First Non-cooperation Movement  
C. Champaran Satyagraha    3. Gandhi‟s first fast 
 A B C  
a. 3 1 2 
b. 3 2 1 
c. 1 2 3 
d.   1 3 2 
e. Answer not known 
nghUj;Jf:  
A. mfkjhghj; Miy njhopyhsh;  1. Kjy; rl;lkWg;G ,af;fk;  
   Ntiy epWj;jk;  
B. Nfjh Nghuhl;lk;    2. Kjy; xj;Jioahik ,af;fk;  
C. rk;guhd; rj;jpahfpufk;    3. fhe;jpapd; Kjy; cz;zhtpuj  
      Nghuhl;lk;  
 A B C  
a. 3 1 2 
b. 3 2 1 
c. 1 2 3 
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d.   1 3 2 
e. tpil njhpatpy;iy 

 
 
 
46. Choose the correct statements regarding the servants of India society  

1. Gandhi was a member of servants of India society  
2. The organization has its headquarters in Pune (Maharashtra) 
a. 1 only   b. 2 only    c. both 1 and 2    
d. None      e. Answer not known 
,e;jpa gzpahsh; rq;fk; Fwpj;j $w;Wfspy; rhpahdJ vJ?  
1. ,e;jpa gzpahsh; rq;fj;jpy; fhe;jpAk; xU cWg;gpdh;  
2. ,e;j mikg;gpd; jiyikaplk; G+Nd (kfhuh~;buk;) 
a. 1 kl;Lk;  b. 2 kl;Lk;   c. 1 kw;Wk; 2 ,uz;Lk;  
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
47. Choose the correct statements regarding Montagu-Chelmsford reforms  

1. The Dyarchy was introduced in the central level  
2. The Bicameral system introduced in the provincial level  
a. 1 only   b. 2 only    c. both 1 and 2    
d. None    e. Answer not known 
khz;NlF nrk;];Nghh;L rPh;jpUj;jk; njhlh;ghd $w;Wfspy; rhpahdJ vJ?  
1. kj;jpa kl;lj;jpy; ,ul;il Ml;rp Kiw mwpKfg;gLj;jg;gl;lJ. 
2. khfhzq;fspy; ,U mit Kiw mwpKfg;gLj;jg;gl;lJ.  
 a. 1 kl;Lk;  b. 2 kl;Lk;   c. 1 kw;Wk; 2 kl;Lk;  
d. vJTkpy;iy  e. tpil njhpatpy;iy 
  

48. Match the following: 
A. Namasudra Movement    1. North-Western India 
B. Adidharma Movement    2. Western India  
C. Satyashodhak Movement   3. Bengal and Eastern India  
 A B C 
a. 1 2 3 
b. 3 2 1 
c. 1 3 2 
d.   3 1 2 
e. Answer not known 
nghUj;Jf:  
A. ehk#j;u ,af;fk;    1. tlNkw;F ,e;jpah  

B. Mjpjh;k ,af;fk;    2. Nkw;fpe;jpah  
C. rj;a Nrhjf; ,af;fk;    3. tq;fhsk; kw;Wk; fpof;fpe;jpah  
 A B C 
a. 1 2 3 
b. 3 2 1 
c. 1 3 2 
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d.   3 1 2 
e. tpil njhpatpy;iy 

 

49. Who among the following assassinated Michael O Dwyer? 
a. Bharat Singh   b. Udham Singh   c. K.F Nariman   
d. Jatindra Nath Das   e. Answer not known 
ikf;Nfy; X ilaiu gLnfhiy nra;jth; ahh;?  
a. guj; rpq;    b. cj;jk; rpq;   c. Nf.vg;. ehpkd;   
d. [pj;Nje;jpuehj; jh];  e. tpil njhpatpy;iy 

 
50. Who among the following helped Dr. B.R Ambedkar for his studies in the form 

of scholarship? 
a. Maharaja of Baroda  b. Maharaja of Mahar  c. Maharaja of Mysore  
d. Maharaja of Barona e. Answer not known 
 gpd;tUgth;fspy; Dr. gp. Mh;. mk;Ngj;fhUf;F gbf;f cjtpj;njhif toq;fpath; 
ahh;?  
a. ik#hpd; kfhuh[h b. k`hh; kfhuh[h  c. G+dhtpd; kfhuhzp  
d. gNuhdhtpd; kfhuh[h e. tpil njhpatpy;iy 
 

51. Choose the incorrect statements regarding Karachi session of INC  
1. The Karachi congress ratified the Gandhi Irwin Pact  
2. The viceroy refused to commute the death sentence of Bhagat Singh 
a. 1 only   b. 2 only    c. both 1 and 2    
d. None     e. Answer not known 
INC-d; fuhr;rp khehL njhlh;ghd rhpay;yhj $w;iwj; Njh;e;njL.  
1. fuhr;rp khehL> fhe;jp ,h;tpd; xg;ge;jj;jpw;F xg;Gjy; toq;fpaJ.  
2. gftj; rpq;fpd; kuz jz;lidia khw;w itrpauha; kWj;Jtpl;lhh;.  
a. 1 kl;Lk;  b. 2 kl;Lk;   c. 1 kw;Wk; 2 kl;Lk;  
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
52. Arrange the following in chronological order  

1. Poona Pact  
2. Gandhi – Irwin Pact  
3. Communal Award  
a. 1-2-3  b. 3-2-1   c. 2-3-1   
d. 2-1-3    e. Answer not known 
gpd;tUtdtw;iw fhythpirg; gLj;Jf.  
1. G+dh xg;ge;jk;  
2. fhe;jp - ,h;tpd; xg;ge;jk;  
3. tFg;Gthj gpujepjpj;Jtk;  
a. 1-2-3  b. 3-2-1   c. 2-3-1   
d. 2-1-3    e. tpil njhpatpy;iy 
 

53. Who was the British Prime Minister when communal award was announced? 
a. Clement Atlee    b. Winston Churchill 
c. Ramsay MC Donald   d. William Jones   
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e. Answer not known 
tFg;Gthj nfhilia mwptpj;jNghJ gphpl;b~; gpujkuhf ,Ue;jth; ahh;?  
a. fpskz;l; ml;yp   b. tpd;~;ld; rh;r;rpy;  
c. uhk;Nrnkf;nlhdhy;L   d. tpy;ypak; N[hd;];  
e. tpil njhpatpy;iy 

 
54. Consider the following statements, choose the correct answer form the codes 

given below 
Assertion (A): Gandhi went on a fast unto death in the Yervada jail         
Reason (R): The communal award announced in August 1932   
a. A is correct and R is incorrect  
b. A and R are correct and R is the correct explanation of A  
c. A and R are Incorrect  
d. A and R are correct but R is not the correct explanation of A  
e. Answer not known 
gpd;tUk; $w;Wfis ftdpj;J> rhpahd FwpaPl;ilj; Njh;T nra;f.  
$w;W (A) : fhe;jp> vuthlh rpiwapy; rhFk;tiu cz;zhtpujk;  
    Nkw;nfhz;lhh;.  
fhuzk; (R) : 1932> Mf];l;by; tFg;thj nfhil mwptpf;fg;gl;lJ.  
a. (A) kl;Lk; rhp (R) jtW  
b. (A) kw;Wk; (R) ,uz;Lk; rhp kw;Wk; (A) Tf;F rhpahd tpsf;fk; (R) MFk;. 
c. (A) kw;Wk; (R) ,uz;Lk; jtW  
d. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (A) Tf;F rhpahd tpsf;fk; (R) my;y  
e. tpil njhpatpy;iy 
 

55. Which conspiracy case was also known as Bolshevik conspiracy case? 
a. Kanpur conspiracy case  b. Peshwar conspiracy case  
c. Meerut conspiracy case   d. Bombay conspiracy case   
e. Answer not known 
ve;j rjp tof;F Nghy;];tpf; rjp tof;F vd mwpag;gLfpwJ? 
a. fhd;G+h; rjp tof;F   b. ng~hth; rjp tof;F  
c. kPul; rjp tof;F    d. gk;gha; rjp tof;F  
e. tpil njhpatpy;iy 

 
56. Which among the following INC sessions which leads famous resolution on 

Fundamental rights and duties? 
a. Lahore   b. Delhi   c. Calcutta    
d. Karachi  e. Answer not known 
mbg;gil chpikfs; kw;Wk; flikfs; Fwpj;j gpugykhd jPh;khdj;ij ve;j 
INC khehl;by; epiwNtw;wg;gl;lJ?  
a. yh$h;  b. nly;yp   c. fy;fj;jh   
d. fuhr;rp  e. tpil njhpatpy;iy 
 

57. The sessions judge H.E Holmes is related to which of the following cases  
1. Kanpur conspiracy case  
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2. Chauri Chaura case  
3. Kakori conspiracy case  
a. all the above   b. 1 and 2 only   c. 1 and 3 only   
d. 2 and 3 only     e. Answer not known 
 
 
mkh;T ePjpgjp vr;. , N`hk;]; gpd;tUk; ve;j tof;FfSld; njhlh;lGilath;?  
1. fhd;G+h; rjp tof;F  2. nrshp nrsuh tof;F 3. ff;Nfhhp rjp tof;F  
a. Nkw;fz;l midj;Jk;  b. 1 kw;Wk; 2 kl;Lk;  c. 1 kw;Wk; 3 kl;Lk;  
d. 2 kw;Wk; 3 kl;Lk;  e. tpil njhpatpy;iy 
 

58. Choose the correct statement regarding M. Singaravelar 
1. Along with Thiru. V. Kalyanasundaram, he organized many trade union 

south India    
2. Initially he was associated with INC  
a. 1 only   b. 2 only    c. both 1 and 2    
d. none    e. Answer not known 
vk;. rpq;fhuNtyh; Fwpj;j $w;Wfspy; rhpahdJ vJ?  
1. jpU.tp. fy;ahzRe;juj;Jld; Nrh;e;J> njd;dpe;jpahtpy; gy njhopw;rq;fj;ij 
mikj;jhh;.  
2. Muk;gj;jpy; ,th; I.vd;.rp. Ald; njhlh;Gilath;  
a. 1 kl;Lk;  b. 2 kl;Lk;   c. 1 kw;Wk; 2 kl;Lk;  
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

59. The Communist Party of India was established formally with ___ as it‟s 
Headquarters. 
a. Tashkent  b. Calcutta   c. Kanpur   
d. Bombay  e. Answer not known 
,e;jpahtpy; fk;A+dpr fl;rp Njhw;Wtpf;fg;gl;l NghJ mjd; jiyikafk; 
mjpfhug;G+h;tkhf mwptpf;fg;gl;lJ _________ MFk;.  
a. jh~;fz;l;  b. fy;fj;jh   c. fhd;G+h;   
d. gk;gha;   e. tpil njhpatpy;iy 

 
60. Open competitive examination for civil services was implemented by which 

Act? 
a. Pitt India Act   b. Charter Act of 1813 
b. Charter Act of 1833  d. Charter Act of 1853 
e. Answer not known 
rptpy; NritfSf;fhd jpwe;j Nghl;bj; Njh;T ve;jr; rl;lj;jpd; %yk; 
eilKiwg;gLj;jg;gl;lJ? 
a. gpl; ,e;jpa rl;lk;   b. gl;lar; rl;lk; 1813 
c. gl;la rl;lk; 1833   d. gl;lar; rl;lk; 1853 
e. tpil njhpatpy;iy 

 
61. Match List I with List II  

List I      List II 
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A. Thomas Munro    1. Mahalwari 
B. Warren Hastings     2. Ryotwari 
C. Cornwallis    3. Annual system 
D. William Bentinck    4. Permanent settlement 
 
 
 
 A B C D 
a. 1 2 3 4 
b.  2 3 4 1 
c. 3 4 2 1 
d.  4 3 1 2 
e. Answer not known 
nghUj;Jf:  
 gl;bay; I     gl;bay; II  
A. jhk]; kd;Nwh    1. kfy;thhp  
B. thud; N`];bq;];   2. ,uaj;Jthhp 
C. fhud; thyp];    3. Mz;L Kiw  
D. tpy;ypak; ngz;bq;   4. epiyahd Kiw  
 A B C D 
a. 1 2 3 4 
b.  2 3 4 1 
c. 3 4 2 1 
d.  4 3 1 2 
e. tpil njhpatpy;iy 

 
62. Which was the first peasant‟s Revolt in India? 

a. Santhal Revolt  b. Bengal Indigo Revolt  c. Pabna Revolt 
d. Deccan Riots Revolt e. Answer not known 
,e;jpahtpy; tptrhapfspd; Kjy; Gul;rp vJ?  
a. rhe;jy; Gul;rp  b. tq;fhs ,z;bNfh Gul;rp  c. ghg;dh Gul;rp 
d. jf;fhz fytu Gul;rp  e. tpil njhpatpy;iy 

 
63. The Punjab peasant Movement broke out in the year  

a. 1875 b.1878  c. 1890  d. 1876 e. Answer not known 
gQ;rhg; tptrhapfs; ,af;fk; njhlq;fg;gl;l Mz;L  
a. 1875 b.1878  c. 1890  d. 1876 e. tpil njhpatpy;iy 

 

64. From the following statements given below choose the statement/statements 
which are not correct and choose the answer using the codes given below.  

1. The kheda or Kaira satyagraha made sardar Vallabhai patel emerge as an 
important leader of the Freedom struggle.  

2. The champaran satyagraha took place in Gujarat in 1920. 
3. No – tax campaign was started in Bardoli, Gujarat in 1978 
4. The Moplah Rebellion took place in the year 1925 
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a. 2 and 4  b. 1 and 3   c. 3 and 4    
d. 4 only  e. Answer not known 
fPo;fz;l $w;Wfis Muha;e;J rhpahd FwpaPl;il Njh;T nra;f.  
1. Nfjh my;yJ ifuh rj;ahfpufk;> ty;ygha; gl;Nliy Rje;jpu Nghuhl;lj;jpy; 

Kf;fpaj; jiytuhf cUthf;fpaJ.  
2. rk;uhd; rj;ahfpufk; - 1920-y; F[uhj;jpy; eilngw;wJ 
3. 1928 y; F[uhj;jpy; cs;s gh;Njhypapy; thp nfhlh gpur;rhuk; 

njhlq;fg;gl;lJ. 
4. 1925-Mk; Mz;L khg;gps;sh fofk; njhlq;fpaJ 
a. 2 kw;Wk; 4  b. 1 kw;Wk; 3   c. 2 kw;Wk; 4   
d. 4 kl;Lk;   e. tpil njhpatpy;iy 

 
65. Yusaf khan attacked and captured which place in 1761? 

a. Panchalam kurichi b. Nerkattum seval   c. Sivagangai  
d. Panchalankurichi  e. Answer not known 
1761-y; A+rg;fhd; jhf;fpaJ kw;Wk; ifg;gw;wpa gFjp vJ?  
a. ghQ;rhyk; Fwpr;rp  b. new;fl;Lk; nrt;ty;   c. rptfq;if  
d. ghQ;rhyq;Fwpr;rp  e. tpil njhpatpy;iy 
 

66. From the following statements given below, choose the correct statement 
/statements using the codes given below: 

1. Ariyanatha Mudaliyar the minister of Viswanatha helped him to institute 
the palayakkarar system. 

2. The whole country was divided into 80 palayams and were under a 
palayakkarar 

3. Jagaveera pandiya kattabomman was a feudatory under the pandyas. 
4. Veerapandya kattabomman‟s brothers were the omaithurai and 

Sevathaiah. 
a. 1 only  b. 1,3,4    c. 2 & 4 only   
d. 4 only  e. Answer not known 
gpd;tUk; $w;W / $w;Wfspy; rhpahd FwpaPl;il Njh;T nra;f.  
1. tp];tehjh; mitapy; ,Ue;j Mhpaehj Kjypahh; vd;Dk; mikr;rh; 

ghisaf;fhuh; Kiwia epWt cjtpdhh;. 
2. xl;L nkhj;j ehL 80 ghisaq;fshfg; gphpf;fg;gl;bUe;jJ mJ 

ghisaf;fhuh;fspd; fl;Lg;ghl;by; ,Ue;jJ 
3. n[ftPuuhk ghz;ba fl;lnghk;kd;> ghz;bah;fspd; fPo; ,Ue;j xU rpw;wurh; 

Mthh; 
4. tPughz;ba fl;lnghk;kdpd; rNfhjuh;fs; Cikj;Jiu kw;Wk; nrtj;ijah 
a. 1 kl;Lk;  b. 1, 3 kw;Wk; 4  c. 2 kw;Wk; 4   
d. 4 kl;Lk;  e. tpil njhpatpy;iy 

 
67. Who issued the Tiruchirappalli Proclamation and in which year? 

a. Virapandya kattabomman, 1798 b. Pulithevar 1799 
c. Marudu Pandyas 1801   d. Krishnappa Nayak, 1800 
e. Answer not known 
jpUr;rpuhg;gs;sp gpufldj;ij ntspapl;lJ ahh; kw;Wk; ve;j Mz;L?  
a. tPughz;ba fl;lnghk;kd;> 1798  b. GypNjth;> 1799 
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c. kUJ ghz;bah;fs;> 1801   d. fpU~;zg;g ehaf;fh;> 1800  
e. tpil njhpatpy;iy 

 
68. From the statements given below choose the correct statement/statements 

using the codes given below: 
1. The family members of Tipu were imprisoned at Vellore Fort after the 

fourth Anglo Mysore war. 
2. In the year 1805, certain military regulations were introduced by the 

governor of Madras W.C.Bentinck. 
3. The sepoys were asked to shave beard and to trim moustache  
4. The wearing of religious mark on the forehead and the use of ear-rings 

were also banned.  
a. 1 only  b. 2 & 3 only   c. 1,3, 4   
d. 4 only  e. Answer not known 
fPo;fz;l $w;W / $w;Wfis Muha;e;J rhpahd FwpaPl;il Njh;T nra;f.  
1. ehd;fhtJ Mq;fpNya ik#h; NghUf;Fg; gpd; jpg;Gtpd; FLk;gk; NtY}h; 

Nfhl;ilf;F mDg;gg;gl;lJ.  
2. nkl;uh]; MSeuhd W.C. ngz;bq;fhy; 1805 Mk; Mz;L rpy ,uhZt 

newp Kiwfs; mwpKfg;gLj;jg;gl;lJ.  
3. rpg;gha;fis jhbia rtuQ;nra;aTk;> kPiria xOq;fikf;fTk; 

Nfl;Lf;nfhz;ldh;. 
4. new;wpapy; rkaf;Fwpfis ,Ljy; kw;Wk; fhjpy; tisak; mzpjy; 

Mfpait jil nra;ag;gl;lJ. 
a. 1 kl;Lk;  b. 2 kw;Wk; 3   c. 1, 3 kw;Wk; 4   
d. 4 kl;Lk;   e. tpil njhpatpy;iy 

 
69. The Vellore revolt was finally crushed by whom? 

a. John Cradock  b. Col. Fancourt   c. Maj. Cootes  
d. Col.gillespie   e. Answer not known 
NtY}h; Gul;rp filrpahf ahuhy; mlf;fg;gl;lJ?  
a. [hd; fpulhf;  b. fh;dy; ghd;Nfhh;l;  c. Nk[h; $l;];  
d. fhl;]; [py;y];gp  e. tpil njhpatpy;iy 
 

70. Consider the following 
Assertion (A): The immediate cause of the revolt of 1857 was the introduction 
of the new Enfield riffles in the army. 
Reason (R): Both the Hindu & Muslim soldiers resented to use the new Riffles 
because the cartridges were greased with the fat of cow & pig and soldiers 
regarded it as against their respective religion. 
a. Both (A) & (R) are true   b. (A) is true (R) is false 
c. (A) is false but (R) is true   d. Both (A) & (R) are false  
e. Answer not known  
gpd;tUtdtw;iw Ma;f  
$w;W (A) : 1857-Mk; Gul;rpf;F Kf;fpaf; fhuzk; ,uhZtj;jpy; 
mwpKfg;gLj;jg;gl;l Gjpauf vd;gPy;L Jg;ghf;fp  
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fhuzk; (R) : ,e;J kw;Wk; K];yPPk; rpg;gha;fs; ,jid vjph;j;jdh;. fhuzk; 
,e;j  Jg;ghf;fpf;F gad;gLj;jg;gLk; Njhl;lhf;fs; gR kw;Wk; gd;wpapd;  
nfhOg;ghy; jltg;gl;bUe;jJ. kw;Wk; ,J ,uz;L rkaj;jhUf;Fk; vjpuhf 
,Ue;jJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp   b. (A) rhp Mdhy; (R) jtW  
c. (A) jtW Mdhy; (R) rhp   d. (A) kw;Wk; (R) ,uz;Lk; jtW  
e. tpil njhpatpy;iy 
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71. Match List I with List II  
List I     List II 
A. Lucknow    1. William Taylor    
B. Jhansi    2. John Nicholson 
C. Bihar    3. Hugh Rose 
D. Delhi    4. Henry Lawrence 
 A B C D 
a. 1 2 3 4 
b.  2 1 4 3 
c. 4 3 1 2 
d.  3 4 2 1 
e. Answer not known 
nghUj;Jf:  
 gl;bay; I    gl;bay; II  
A. yf;Ndh     1. tpy;ypak; nla;yh;  
B. [hd;rp     2. [hd; epf;fy;rd; 
C. gPfhh;     3. `f; Nuh]; 
D. nly;yp    4. n`d;wp yhud;];  
 A B C D 
a. 1 2 3 4 
b.  2 1 4 3 
c. 4 3 1 2 
d.  3 4 2 1 
e. tpil njhpatpy;iy 

 
72. When the Hindustan Republican Association was reorganized as the 

Hindustan Socialist Republican Association? 
a. June 1928   b. July 1928   c. August 1928  
d. September 1928  e. Answer not known 
vg;NghJ `pe;J];jhd; upgg;spfd; mNrhrpNa~d;-`pe;J];jhd; Nrhryp];l; 
upgg;spfd; mNrhrpNa~d; vd ngau;khw;wk; nra;ag;gl;L jpUj;jp mikf;fg;gl;lJ? 
a. [_d; 1928   b. [_iy 1928  c. Mf];l; 1928  
d. nrg;lk;gu; 1928  e. tpil njhpatpy;iy 
 

73. The Saunders murder case was also known as the 
a. Second Kanpur conspiracy case  b. Second Peshawar conspiracy case 
c. Second Lahore conspiracy case  d. Second Amritsar conspiracy case 
e. Answer not known 
rhz;lu;]; nfhiy tof;F vt;thW miof;fg;gLfpwJ? 
a. 2-tJ fhd;G+u; rjp tof;F  b. 2-tJ ng~htu; rjp tof;F 
c. 2-tJ yh$u; rjp tof;F   d. 2-tJ mkpu;jru]; rjp tof;F 
e. tpil njhpatpy;iy 
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74. The H.S.R.A was involved in which of the following actions. 
I. The murder of Saunders in Lahore  
II. The attempt to blow up the train in which Lord Irwin was travelling. 
a. I only  b. II only  c. Both I and II   
d. None  e. Answer not known 
gpd;tUk; ve;j eltbf;iffspy; `pe;J];jhd; Nrhryp];l; upgg;spfd; 
mNrhrpNa~d; <Lgl;lJ? 
I. yh$upy; rhz;lu;]pidf; nfhd;wJ. 
II. ,u;tpd; gpuG gazk; nra;Jf; nfhz;bUe;j uapiyf; nfhSj;Jk; 

Kaw;rpapYk; <Lgl;ld. 
rupahdtw;iw Nju;Tnra;f. 
a. I kl;Lk;  b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk;  
d. vJTkpy;iy e. tpil njhpatpy;iy 

 
75. Whose revolutionary group was named Indian Republican Army? 

a. Bhagat Singh revolutionary group 
b. Sachin Sanyal revolutionary group 
c. Jatindra Nath das revolutionary group 
d. Surya Sen‟s revolutionary group 
e. Answer not known 
ahUila Gul;rpfuf; FO ,e;jpaf; FbauR ,uhZtk; vd ngauplg;gl;lJ? 
a. gfj;rpq; Gul;rpfu FO   b. rr;rpd; rd;ahy; Gul;rpfu FO 
c. [jPe;jpuehj; jh]; Gul;rpfu FO  d. #upah nrd;dpd; Gul;rpfu FO 
e. tpil njhpatpy;iy 

 
76. A, B and C can complete a work in 5 days. If A and C can complete the same 

work in 
1

7
2

 days and A alone in 15 days, then in how many days can B and C 

finish the work? 

a. 5   b. 15    c. 
1

7
2

    

d. 10   e. Answer not known 
A, B kw;Wk; C Mfpa %th; xU Ntiyia 5 ehl;fspy; Kbg;gh;. A kw;Wk; C 
MfpNahh; mNj Ntiyia 7½ ehl;fspYk; A Mdth; jdpNa mij 15 
ehl;fspYk; Kbg;gh; vdpy;> B kw;Wk; C me;j Ntiyia Kbf;f vj;jid 
ehl;fs; MFk;? 

a. 5   b. 15    c. 
1

7
2

    

d. 10   e. tpil njhpatpy;iy 
 
77. When seen through a mirror, a watch shows 12 : 15. The correct time is 

a. 12 : 30  b. 1 : 15   c. 12 : 45   
d. 11 : 45  e. Answer not known 
fz;zhb topahfg; ghh;j;jhy;> fbfhuk; 12 : 15 If; fhl;LfpwJ. rhpahd Neuk; 

 a. 12 : 30  b. 1 : 15   c. 12 : 45   



 

22 | Page  044-24339436, 42867555, 9840226187 
 

d. 11 : 45  e. tpil njhpatpy;iy 
78. If (5a – 3b) : (4a – 2b) = 2 : 3, then a : b is equal to: 
 a. 5 : 8   b. 5 : 7    c. 2 : 3     

d. 3 : 4   e. Answer not known 
 (5a – 3b) : (4a – 2b) = 2 : 3, vdpy; a : b d; tpfpjk; fhz;f. 
 a. 5 : 8   b. 5 : 7    c. 2 : 3    

d. 3 : 4   e. tpil njhpatpy;iy 
 
79. What is the difference between the sum of first 'n odd natural numbers and that 

of first 'n' natural numbers? 

a. 
  1 2 1

6

n n n 
  b. 

 1

2

n n
   c.  

 1

2

n n
   

d. 1
2

n
    e. Answer not known 

Kjy; „n‟ xw;iw ,ay; vz;fspd; $LjYf;Fk; Kjy; „n‟ ,ay; vz;fspd; 
$LjYf;Fk; cs;s tpj;jpahrk; vd;d? 

a. 
  1 2 1

6

n n n 
  b. 

 1

2

n n
   c.  

 1

2

n n
   

d. 1
2

n
    e. tpil njhpatpy;iy 

 
80. The students in three classes are in the ratio 2 : 3 : 5. If 40 students are increased 

in each class, the ratio changes to 4 : 5: 7. Originally, the total number of 
students was 
a. 100   b. 180    c. 200    
d. 400   e. Answer not known 
%d;W tFg;gpYs;s khzth;fspd; tpfpjkhdJ 2 : 3 : 5 Mf cs;sJ. xt;Nthh; 
tFg;gpYk; 40 khzth;fs; mjpfhpf;Fk; NghJ tpfpjkhdJ 4 : 5: 7 Mf 
khwpAs;sJ  vdpy; ,ay;ghf nkhj;j khzth;fspd; vz;zpf;ifahdJ  
a. 100   b. 180    c. 200    
d. 400   e. tpil njhpatpy;iy 

 
81. Who started the first Indian owned Cotton mill? 

a. Stanes  b. J.N. Tata   c. Cowasjee Nanabhoy Davar 
d. Couper  e. Answer not known 
gUj;jp Miyia Kjd;Kjypy; njhlq;fpa ,e;jpau; ahu;? 
a. ];lhd;];  b. J.N lhlh   c. ft];[P ehdhgha; jtu;  
d. $g;gu;  e. tpil njhpatpy;iy 
 

82. When was the first train in India inaugurated? 
a. April 16th 1853  b. May 16th 1853  c. June 16th 1853  
d. July 16th 1853  e. Answer not known 
vg;NghJ ,e;jpahtpd; Kjy; ,uapy; gazk; njhlq;fg;gl;lJ? 
a. Vg;uy; 16> 1853  b. Nk 16> 1853  c. [_d; 16> 1853  
d. [_iy 16> 1853  e. tpil njhpatpy;iy 
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83. In which year English education was introduced in India? 

a. 1825 b. 1835 c. 1845  d. 1858  e. Answer not known 
Mq;fpyf; fy;tp Kiw ,e;jpahtpy; vg;nghOJ mwpKfg;gLj;jg;gl;lJ?  
a. 1825 b. 1835 c. 1845  d. 1858  e. tpil njhpatpy;iy 

 
84. Short hand writing was used by the police for the first time during which 

period of the National Movement? 
a. Non Cooperation Movement  b. Swadeshi Movement  
c. Civil Disobedience Movement  d. Quit India Movement  
e. Answer not known 
,e;jpa Njrpa ,af;fj;jpy; ve;jf; fhyfl;lj;jpy; Kjd; Kiwahf fhty; 
Jiwapduhy; FWf;nfOj;Jg; gad;gLj;jg;gl;lJ.  
a. xj;Jioahik ,af;fk;    b. RNjrp ,af;fk;   
c. rl;l kWg;G ,af;fk;   d. nts;isaNd ntspNaW ,af;fk;  
e. tpil njhpatpy;iy 

85. Consider the following Statement. 
Assertion (A): The partition of Bengal took place by the orders of Viceroy 
Curzon in the year 1905.  
Reason (R): The real aim of Curzon to divide Bengal was to creat split among 
the Hindus and Muslims in Bengal  
a. A is true R is false   b. Both A & R are true  
c. A is false R is true   d. Both A & R are false 
e. Answer not known 
fPo;fz;l $w;Wfis ftdp: 
$w;W (A)  : 1905 Mk; Mz;L tq;fg; gphptpidahdJ fh;rd; gpuGtpd; 
cj;juthy; Nkw;nfhs;sg;gl;lJ.  
fhuzk; (R) : fh;rdpd; tq;fg; gphptpidapd; cz;ikahd Nehf;fk; 
tq;fhsj;jpy; cs;s ,e;J kw;Wk; K];yPk;fis gphpg;gNj MFk;.  
a. (A) rhp & (R) jtW   b. (A) kw;Wk; (R) ,uz;Lk; rhp  
c. (A) jtW> (R) rhp   d. (A) kw;Wk; (R) ,uz;Lk; jtW  
e. tpil njhpatpy;iy 

 
86. Choose the correct Statement about Bharathi 

1. Subramania Bharathi was the subeditor of swadesamitran. 
2. Bharathi translated Tilak‟s „Tenets of the New Party” in to Tamil 
3. He was the editor of a women‟s magazine Chakravarthini.  
a. 1, 2   b. 1, 3    c. 2, 3   
d. All of these e. Answer not known 

ghujp gw;wpa rhpahd $w;Wfis fz;lwpf  
1. Rg;gpukzpa ghujp> RNjrpkpj;ud; vd;Dk; ,jopd; Jiz Mrphpah; Mthh;.  
2. ghujp> jpyf;fpd; "Gjpaf;fl;rp nfhs;iffis" jkpopy; nkhopg;ngah;j;jhh;. 
3. ,th; ngz;fs; ,johd rf;uth;j;jpdpapd; Mrphpah;  
a. 1, 2   b. 1, 3    c. 2, 3   
d. ,it midj;Jk; e. tpil njhpatpy;iy 
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87. From the statements given below, choose the statement/statements which are 
correct 
1. Pheozshah Mehta was one of the founders of the Bombay presidency 

Association.  
2. Pheozshah Mehta group wanted the removal of the four Resolutions, 

passed in the Calcutta session of the congress 1906.  
3. The militant group opposed Pherozshah Mehta‟s suggestion award 

decided to oppose the election of Rashbihari gosh as president of the Surat 
session. 

4. The militants  moved away and the new congress known as Mehta 
congress held the congress session of 1908 without the militant group.  

a. All are correct   b. only 2, 3 correct   c. 3 & 4 correct   
d. Only 1& 4 correct  e. Answer not known 

 nfhLf;fg;gl;l $w;Wfspy;> rhpahd $w;W / $w;Wfs; vJ?  
1. gk;gha; khfhz rq;fk; Njhw;Wtpj;jth;fSs; xUth; ngNuh~h Nkj;jh  
2. 1906-y; eilngw;w fy;fj;jh fhq;fpu]; khehl;by; epiwNtw;wg;gl;l ehd;F 

jPh;khdq;fis ePf;f ngNuh~h Nkj;jh FO tpUk;gpaJ.  
3. #uj; khehl;bd; jiytuhf uh~;gp`hhp Nfhi~ Njh;e;njLg;gij vjph;f;f 

jPtputhj ngNuh~h Nkj;jhtpd; FOthdJ KbT nra;jJ. 
4. jPtputhjpfs; tpyfpdh; kw;Wk; Nkj;jh fhq;fpu]; vd;W miof;fg;gLk; 

Gjpa fhq;fpu]; 1908-Mk; Mz;L eilngw;w fhq;fpu]; khehL 
jPtputhjpfs; ,y;yhky; eilngw;wJ.  

a. midj;Jk; rhp  b. 2> 3 rhp   c. 3> 4 rhp   
d. 1> 4 rhp    e. tpil njhpatpy;iy 

 
88. From the statements given below choose the correct statement/statements. 

Using the codes given below:  
1. Montagu and Chelmsford announced the scheme of constitutional 

reforms, which came to be known as Indian councils Act of 1919 
2. The Act brought about provincial autonomy  
3. There were two houses of legislature, the upper house or the council of 

state and the central legislative assembly 
4. It was because of differences arising amongst the congress members, 

surrendranath Bannerjee left the congress and formed the Indian Liberal 
federation.  

a. 1 & 4  b. 1, 3, 4    c. 2, 4    
d. 4 only   e. Answer not known 

 nfhLf;fg;gl;Ls;s $w;Wfspy; rhpahd FwpaPl;ilj; Njh;T nra;f. 
1. khz;NlF kw;Wk; nrk;];Nghh;L murpayikg;G rPh;jpUj;jq;fspd; jpl;lj;ij 

mwptpj;jdh;. ,J 1919 Mk; Mz;L ,e;jpa fTd;rpy; rl;lk; vd;W 
miof;fg;gl;lJ.  

2. ,e;j rl;lk; khfhzq;fspy; Rahl;rpia nfhz;L te;jJ. 
3. rl;lkd;wj;jpy; ,U mitfs; cs;sJ> Nky; rig my;yJ khepy rig 

kw;Wk; kj;jpa rl;lkd;wk;  
4. ,J fhq;fpu]; cWg;gpdh;fs; ,ilNa gpsit Vw;gLj;jpaJ> RNje;jpuehj; 

ghdh;[p fhq;fpui] tpl;L ntspNawpdhh; kw;Wk; ,e;jpa Rje;jpu $l;likg;ig 
cUthf;fpdhh;.  

a. 1 & 4  b. 1, 3, 4    c. 2, 4    
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d. 4 only   e. tpil njhpatpy;iy 
89. In which session of the congress decision was taken to boycott the simon 

commission? 
a. Madras session   b. Nagpur session   c. Calcutta session   
d. Bombay session   e. Answer not known 
ve;j fhq;fpu]; khehl;by; irkd; FOit Gwf;fzpf;f KbT vLf;fg;gl;lJ. 
a. nkl;uh]; khehL  b. ehf;G+h; khehL  c. fy;fj;jh khehL  
d. gk;gha; khehL  e. tpil njhpatpy;iy 

 
90. Who was the president of the congress session at Lahore, 1929? 

a. Motilal Nehru   b. Jawaharlal Nehru c. C. R. Das    
d. Rajendra Prasad  e. Answer not known 
1929-y; eilngw;w fhq;fpu]; khehl;bd; jiyth; ahh;?  
a. Nkhjpyhy; NeU  b. [t`h;yhy; NeU  c. C.R. jh];   
d. ,uhN[e;jpu gpurhj;  e. tpil njhpatpy;iy 

 
91. Consider the following  

Assertion (A): General Dyer fired at Jallian Walabagh crowd without any 
warning and fired till the ammunition was exhausted. 
Reason (R): The shooting was not only to boost the morale of the army but 
also to strike terror in Punjab 
a. Both A & R are true   b. A is true but R is not correct  
c. A is false but R is true  d. Both A & R are not correct  
e. Answer not known 
gpd;tUtdtw;iw Ma;f  
$w;W (A) : [hypad; thyhghfPy; eilngw;w $l;lj;jpy; n[duy; ilah;   

ve;jtpj mwptpg;Gk; ,d;wp Jg;ghf;fpr; #l;il elj;jpdhh; kw;Wk; 
ntb kUe;J jPUk; tiu Jg;ghf;fpr; #L elj;jg;gl;lJ.  

fhuzk; (R) : ,e;j Jg;ghf;fpr; #L ,uhZtj;jpd; kd cWjpia 
mjpfhpg;gjw;fhf  

kl;Lkpy;yhky;> gQ;rhgpy; ele;j gaq;futhj jhf;Fjy;.  
a. (A) kw;Wk; (R) ,uz;Lk; rhp    
b. (A) rhp kw;Wk; (R) jtW   
c. (A) jtW kw;Wk; (R) rhp     
d. (A) kw;Wk; (R) ,uz;Lk; jtW  
e. tpil njhpatpy;iy 

 
92. Consider the following statement Choose the correct statement/statements 

using the codes given below: 
1. Ambedkar presented a research paper on castes in India “Which was 

published in the Indian Antiquary”.  
2. Mook Nayak was the journal and the Bahiskrit Hitakarini sabha were 

the tools for articulate his views.  
3. He launched Mahad Satyagraha to establish the civics rights of the 

untouchables 
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a. 1, 2, 3  b. 2 & 3   c. 1, 3   
d. 3 only   e. Answer not known 

 fPo;fz;l $w;W / $w;Wfis ftdpj;J rhpahdf; FwpaPl;ilj; Njh;T nra;f.  
1. ,e;jpahtpy; rhjpfs; Fwpj;j Ma;Tf; flLiuahd ",e;jpahtpd; gioa 

rhpj;jpuq;fs;" is mk;Ngj;fh; ntspapl;lhh;. 
2. %f; ehaf; gj;jphpf;if kw;Wk; g`p~; `pl;fhhpdp rig Mfpait mtuJ 

fUj;Jfis ntspg;gLj;Jk; fUtpfs;.  
3. ,th; kfj; rj;ahfpufj;ij> jPz;lj;jfhjth;fspd; chpikia ngw;Wj; ju 

Nkw;nfhz;lhh; 
 a. 1, 2,3   b. 2 kw;Wk; 3  c. 1 kw;Wk; 3   

d. 3 kl;Lk;   e. tpil njhpatpy;iy 
 

93. Which of the following statement are true about the Kanpur conspiracy case? 
1. The Kanpur conspiracy case was one of the repressive measures 

adopted by the British government against trade unionists and 
communists.  

2. The Kanpur conspiracy case occurred in 1924.  
3. Eight trade unionists were charged under section 121-A of Indian penal 

code 
4. Finally they were all acquitted.  

a. 1, 2, 3   b. All     c. 2 & 3   
d. 3 & 4    e. Answer not known 
fhd;G+h; rjp tof;fpy; gpd;tUtdtw;wpy; rhpahd thf;fpak; vJ?  

1. fhd;G+h; rjp tof;F njhopw;rq;fthjpfs; kw;Wk; fk;A+dp];LfSf;F 
vjpuhf gphpl;b~; murhq;fk; Nkw;nfhz;l mlf;FKiw eltbf;iffspy; 
xd;whFk;.  

2. fhd;G+h; rjp tof;F 1924y; ele;jJ 
3. ,e;jpa jz;lidr; rl;lj;jpd; gphpT 121-A (m) d; fPo; vl;L 

njhopw;rq;fthjpfs; kPJ Fw;wk; rhl;lg;gl;lJ 
4. filrpahf midtiuAk; tpLjiy nra;jdh;. 

a. 1> 2> 3  b. midj;Jk;   c. 2 kw;Wk; 3   
d. 3 kw;Wk; 4  e. tpil njhpatpy;iy 

 
94. All India Hindu Mahasabha was started where and in which year? 

a. Haridwar 1915 b. Calcutta 1916  c. Kanpur 1917  
d. Benares 1920 e. Answer not known 
mfpy ,e;jpa ,e;J kfhrig Njhw;Wtpf;fg;gl;lJ vq;Nf? vg;nghOJ? 
a. `hpj;Jthh;> 1915 b. fy;fj;jh> 1916  c. fhd;G+h;> 1917  
d. gdhu];> 1920  e. tpil njhpatpy;iy 

 
95. The idea of Pakistan was conceived by whom as early as 1930? 

a. Rahmat Ali b. Poet Iqbal   c. Wazir Hasan  
d. M. Jinnah  e. Answer not known 
ghfp];jhdpd; Nahrid 1930 Mk; Mz;bNyNa ahuhy; Kd;nkhopag;gl;lJ? 
a. ufkj; myp  b. ftpQH ,f;ghy;  c. thrph; `hrd;  
d. M. [pd;dh  e. tpil njhpatpy;iy 
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96. The first Indian to find a place in the London Privy Council  
a. Rahamattullah Sayani  b. Syed Ameer Ali  c. Sir Syed Ahmed 
d. Badruddin Tyabji   e. Answer not known 
 
,yz;ld; jdpAhpik fTd;rpypy;  ,lk; ngw;w Kjy; ,e;jpah; ahh;? 
a. ufkj;Jy;yh rahdp  b. iraJ mkPh; myp   
c. rh; iraJ mfkJ   d. gf;UjPd; jpahg;[p  
e. tpil njhpatpy;iy 

 
97. Direct Action Day was organized by the Muslim League on 

a. 25th December 1942  b. 16th August 1946 
c. 21st March 1937   d. 22nd December 1939 
e. Answer not known 
K];yPk; yPf;fhy; Neub eltbf;if ehs; Vw;ghL nra;ag;gl;lJ vg;nghOJ? 
a. 1942> brk;gh; 25   b. 16 Mf];l; 1946   
c. 1937> khh;r; 21   d. 1939 brk;gh; 22 
e. tpil njhpatpy;iy 
 

98. During the Quit India Movement who operated radio broad casting from 
Bombay? 
a. Usha Mehta  b. Lady Cama c. Ram Manohar Lohia  
d. Achyat Patwardhan e. Answer not known 
nts;isaNd ntspNaW ,f;fj;jpd; NghJ gk;ghapypUe;J NubNah xspgug;ig 
epfo;j;jpaJ ahh;?  
a. c~h Nkj;jh  b. Nyb fhkh  c. uhk; kNdhfh; Nyhfpah  
d. mr;Rj; gl;th;jd;   e. tpil njhpatpy;iy 

 
99. Consider the following 

Assertion (A): Radcliffe‟s award regarding the drawing of the boundary  
      line was full of anomalies, because it was based mostly on  
      1941 census which was not perfect. 

Reason (R) : Radcliff was forced to do such work because the duration for  
     submission of report was only 72 days. 
a. Both A & R are true  b. A is correct but R is nor correct 
c. A is false but R is correct  d. Both are not correct 
e. Answer not known 
gpd;tUtdtw;iw Ma;f  
$w;W (A) : uhl;fpsp/gPd; vy;iyf;NfhL tiujy; Kuz;ghLfs; epiwe;jjhf 
,Ue;jJ> Vnddpy; ,J 1941-y; rhpahf Nkw;nfhs;shj kf;fs; njhif 
fzf;nfLg;ig mbg;gilahff; nfhz;lJ.  
fhuzk; (R) : uhl;fpsp/g; me;j Ntiyiar; nra;a eph;ge;jpf;fg;gl;lhh;> Vnddpy; 
mwpf;if rkh;g;gpg;gjw;fhd fhyk; 72 ehl;fs; kl;LNk  
a. (A) kw;Wk; (R) ,uz;Lk; rhp  b. (A) rhp Mdhy; (R) jtW   
c. (A) jtW Mdhy; (R) rhp d. (A) kw;Wk; (R) ,uz;Lk; jtW  
e. tpil njhpatpy;iy 
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100. Match List I with List II  
List I      List II 
A. People‟s Republic of China  1. Belgrade, 1961 
B. Bandung Conference    2. March 1947 
C. Asian Relations Conference  3. April 1955 
D. Birth of Non-alligned Movement 4. January 1950  

A B C D 
a. 3 4 2 1 
b. 4 2 3 1 
c. 4 3 2 1 
d. 3 2 4 1 
e. Answer not known 
nghUj;Jf:  

  gl;bay; I     gl;bay; II  
A. rPd kf;fs; FbauR   1. ngy;fpNuL> 1961  
B. ghz;Lq; khehL     2. khh;r;> 1947 
C. Mrpa cwTfs; khehL   3. Vg;uy;> 1955 
D. mzpNruh ,af;fk; Njhw;wk;   4. [dthp 1950  

A B C D 
a. 3 4 2 1 
b. 4 2 3 1 
c. 4 3 2 1 
d. 3 2 4 1 
e. tpil njhpatpy;iy 
 

101. “Operation Barga” the programme to confer tenancy rights was brought in 
which state? 
a. West Bengal  b. Gujarat   c. Uttar Pradesh  
d. Madhya Pradesh  e. Answer not known 
"Mg;gNu~d; ghh;fh" Fj;jif chpikfis toq;Fk; jpl;lk; ve;j khepyj;jpy; 
nfhz;Ltug;gl;lJ?  
a. Nkw;F tq;fhsk;  b. F[uhj;   c. cj;jpugpuNjrk;  
d. kj;jpa gpuNjrk;   e. tpil njhpatpy;iy 

 
102. What is the correct chronological sequence of the following? 

1. Wood‟s Education Despatch 
2. Macaulay‟s minute on education 
3. The sergeant Education Report 
4. Indian Education (Hunter Commission) 
a. 2143 b. 2134 c. 1243  d. 4312 e. Answer not known 
gpd;tUtdtw;Ws; rhpahd fhythpir vd;d? 
1. cl;]; fy;tp mwpf;if  2. nkf;fhNytpd; fy;tpf;FO 
3. rhh;[z;l; fy;tp mwpf;if 4. ,e;jpa fy;tp (`z;lh; FO) 
a. 2143 b. 2134 c. 1243  d. 4312 e. tpil njhpatpy;iy 
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103. Match List I with List II  
List I     List II 

 A. Moplah Revolt   1. Kerala 
 B. Pabna Revolt   2. Bihar 
 C. Eka Movement   3. Bengal 
 D. Birsa Munda Revolt  4. Awadh 

Codes: 
A B C D 

a.  1 3 4 2 
b.  2 3 4 1 
c.  1 2 3 4 
d.  3 4 1 2 
e. Answer not known 
nghUj;Jf. 
njhFjp I    njhFjp II 
A. khg;sh Gul;rp   1. Nfush 
B. ghg;dh Gul;rp   2. gPfhh; 
C. <.fh. ,af;fk;   3. tq;fhsk; 
D. gph;rh Kz;lh Gul;rp  4. mNahj;jp 

A B C D 
a.  1 3 4 2 
b.  2 3 4 1 
c.  1 2 3 4 
d.  3 4 1 2 
e. tpil njhpatpy;iy 

 
104. Lord Mountbatten came to India as Viceroy along with specific instructions to  

a. balkanize the Indian sub-continent 
b. keep India united if possible 
c. Assent Jinnah‟s demand for Pakistan 
d. persuade the congress to accept partition 
e. Answer not known 
it~;uhahf kTz;l;Ngl;ld; gpuG ,e;jpahtpw;F gjtpNaw;f tUk; nghOJ rpy 
Fwpg;gpl;l mwpTWj;jYld; ,e;jpahtpw;F te;jhh;. 
a. ,e;jpa Jiz fz;;lj;ij gpsTgLj;j 
b. Kbe;j tiu ,e;jpah xUikg;ghl;Lld; jpfo 
c. [pd;dhtpd; ghfp];jhd; Nfhhpf;ifia Vw;fr; nra;jy; 
d. fhq;fpui] ghfp];jhd; gphptpidia Vw;Wf;nfhs;s mZFKiw 
e. tpil njhpatpy;iy 

 
105. Consider the following statements. 

Assertion (A): Partition of Bengal in 1905 brought to an end the moderates role 
in the Indian freedom movement. 
Reason (R):  The Surat session of Indian National Congress separated the 
extremist from the moderates. 
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a. Both „A‟ and „R‟ are individually true and „R‟ is the correct explanation of 
„A‟. 

b. Both „A‟ and „R‟ are individually true but „R‟ is not the correct explanation 
of „A‟. 

c. „A‟ is true, but „R‟ is false. 
d. „A‟ is false, but „R‟ is true. 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): 1905k; Mz;by; eilngw;w tq;f gphptpidapdhy; ,e;jpa tpLjiy 
,af;fj;jpy; kpjthjpfspd; gq;F KbTf;F te;jJ. 
fhuzk; (R): #uj;jpy; $ba ,e;jpa Njrpa fhq;fpu]; kpjthjpfis jPtpu 
thjpfsplkpUe;J gphpj;jJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 

 

106. At the time of India‟s independence, Mahatma Gandhi was 
a. a member of congress working committee 
b. not a member of the congress 
c. the president of the congress 
d. the General Secretary of the congress 
e. Answer not known 
,e;jpah Rje;jpukilAk; NghJ 
a. fhq;fpu]; fl;rpapy; cWg;gpduhf ,Ue;jhu; 
b. fhq;fpu]; fl;rpapy; cWg;gpduhf ,y;iy 
c. fhq;fpu]; fl;rpapd; jiyth; 
d. fhq;fpu]; fl;rpapd; nghJr; nrayhsuhf ,Ue;jhu; 
e. tpil njhpatpy;iy 

 

107. The Indian Muslims in general, were not attracted to the Extremist movement 
because of the 

a. influence of the Sir Sayyid Ahmed Khan 
b. anti-Muslim attitude of extremist leaders 
c. indifference shown to Muslim aspirations 
d. Extremists‟ policy of harping on Hindu past. 
e. Answer not known 
nghJthf ,e;jpa K];yPk;fs; tpLjiy ,af;fj;jpy; jPtputhjpfspd; 
eltbf;iffis Mjhpf;ftpy;iy Vndd;why; 

a. rh; nra;J mfkJfhdpd; Mjpf;fk; 
b. jPtputhj jiyth;fspd; K];ypk; tpNuhjNghf;F 
c. K];yPk;fspd; vjph;ghh;g;GfSf;F vjpuhf fhl;lg;gl;l fUj;Jf;fs;  
d. jPtputhjpfspd; nfhs;if ,e;Jf;fs; fle;j fhy rpwg;Gf;fis jpUk;g 

jpUk;g NgRjy; 



 

32 | Page  044-24339436, 42867555, 9840226187 
 

e. tpil njhpatpy;iy 
108. What is the correct sequence of the following event? 

1. The August offer  
2. The INA trial 
3. The Quit India movement 
4. The Royal Indian Naval Ratings Revolt 
Select the correct answer using the codes given below: 
a. 1, 3, 2, 4  b. 3, 1, 2, 4   c. 1, 3, 4, 2   
d. 3, 1, 4, 2  e. Answer not known 
fPo;f;fz;l epfo;r;rpapd; fhythpiria nfhLf;fTk;? 
1. Mf];l; nfhil  
2. I.N.A tprhuiz 
3. nts;isaNd ntspNaW ,af;fk; 
4. ,e;jpa fg;gw;gilapd; Gul;rp mwptpg;G  
a. 1, 3, 2, 4  b. 3, 1, 2, 4   c. 1, 3, 4, 2   
d. 3, 1, 4, 2  e. tpil njhpatpy;iy 
 

109. Which of the following pairs are correctly matched? 
1. Theodore Beck : Mohammadan Anglo Orientel College, Aligarh 
2. Ilbert Bill  : Lord Rippon 
3. Pherozesha Mehta: Indian National Congress 
4. Badruddin Tyabji : Muslim League 
Select the correct answer using the codes given below: 
a. All the above  b. 2 and 4   c. 1,3 and 4   
d. 1, 2 and 3   e. Answer not known 
fPo;f;fz;l ,izapy; rhpahd ,iz vJ? 
1. jpNahlh; ngf;  Kfk;kjpah;fs; Mq;fpNyh jha;top fy;Y}hp> mypfhh; 
2. ,y;gh;l; kNrhjh  hpg;gd; gpuG 
3. ngNuh]; ~hNkj;jh ,e;jpa Njrpa fhq;fpu]; 
4. gj;UjPd; ijgh[p  K];yPk; yPf; 
a. Nkw;fz;l midj;Jk; b. 2 kw;Wk; 4   c. 1> 3 kw;Wk; 4  
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
110. The first venture of Gandhi in all India politics was the  

a. Non-cooperation Movement  b. Rowlatt Satyagraha 
c. Champran Movement   d. Dandi March 
e. Answer not known 
,e;jpa murpaypy; fhe;jpapd; Kjy; murpay; gpuNtrk; vJ? 
a. xj;Jioahik ,af;fk;   b. nusyl; rj;jpah fpufk; 
c. rhk;guhd; ,af;fk;    d. jz;bahj;jpiu 

e. tpil njhpatpy;iy 
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111. Match List I with List II  
List I       List II 

 A. Shyamji Krishna Varma   1. Bande Mataram 
 B. Madam Bhikaji Cama   2. Indian Sociologist 
 C. Annie Besant    3. The Talwar 
 D. Aurobindo Ghosh   4. Commonweal 

A B C D 
a.  2 3 4 1 
b.  3 2 1 4 
c.  2 3 1 4 
d. 3 2 4 1 
e. Answer not known 
nghUj;Jf. 
thpir I      thpir II 
A. rpahk;[p fpU~;z th;kh   1. te;Nj khjuk; 
B. gpf;fh[p fhkh mk;ikahh;  2. ,e;jpa r%ftpayhsh; 
C. md;dp ngrz;l;    3. jhy;thh; 
D. mugpe;Njh Nfh~;    4. fhkd;tPy; 

A B C D 
a.  2 3 4 1 
b.  3 2 1 4 
c.  2 3 1 4 
d. 3 2 4 1 
e. tpil njhpatpy;iy 

 
112. The most short lived of all of Britain‟s constitutional experiments in India was 

the 
a. Indian Councils Act of 1861 b. Indian Councils Act of 1892 
c. Indian Councils Act of 1909 d. Government of India Act of 1919 
e. Answer not known 
,e;jpa murpayikg;G ghpNrhjidapy; ve;j murpay; rl;lk; rpwpJ fhyk; kl;LNk 
,Ue;jJ 
a. 1861k; Mz;bd; ,e;jpa fTd;rpy; rl;lk; 
b. 1892k; Mz;bd; ,e;jpa fTd;rpy rl;lk; 
c. 1909k; Mz;bd; ,e;jpa fTd;rpy rl;lk; 
d. 1919k; Mz;bd; ,e;jpa fTd;rpy rl;lk; 
e. tpil njhpatpy;iy 

 
113. Which one of the following leaders of the Congress was totally in favour of 

Cabinet Mission plan? 
a. Mahatma Gandhi   b. Jawaharlal Nehru  c. Sardar Patel 
d. Maulana Abul Kalam Azad e. Answer not known 
fPo;f;fz;l fhq;fpu]; jiyth;fspy; ahh; fhgpdl; J}J FOjpl;lj;jpw;F Mjuthf 
,Ue;jhh;?  
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a. kfhj;kh fhe;jp   b. [t`h;yhy; NeU   
c. rh;jhh; gNly;   d. nksyhdh mGy; fyhk; M]hj; 
e. tpil njhpatpy;iy 
  

114. Consider the following events: 
1. Indigo Revolt   2. Santhal Rebellion 
3. Deccan Riot   4. Mutiny of the Sepoys 
The correct chronological sequence of these events is 
a. 4, 2, 1, 3  b. 4, 2, 3, 1    c. 2, 4, 3, 1   
d. 2, 4, 1, 3  e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
1. mThp Gul;rp     2. rhe;jy; Gul;rp 
3. jf;fhz fytuk;    4. rpg;gha; fyfk;  
rhpahd fhythpiria jUf. 
a. 4, 2, 1, 3  b. 4, 2, 3, 1    c. 2, 4, 3, 1   
d. 2, 4, 1, 3  e. tpil njhpatpy;iy 

 
115. Match List I with List II 

List I     List II 
 A. Chittagong Armoury raid  1. Kalpana Dutt 
 B. Abhinav Bharat    2. Guru Ram Singh 
 C. Anushilan Samiti    3. Vikram Damodar Savarkar 
 D. Kuka Movement    4. Aurobindo Ghosh 

A B C D 
a.  1 3 4 2 
b.  1 2 3 4 
c.  3 1 2 4 
d.  3 1 4 2 
e. Answer not known 
nghUj;Jf. 
thpir I      thpir II 
A. rpl;lfhq;f ,uhZt Nuhe;J  1. fy;gdhjj; 
B. mgpdht; ghuj;    2. FUuhk;rpq; 
C. mDrPyd rkpjp    3. tpf;uk;jhNkhjh; rhth;f;fh; 
D. Ff;fh ,af;fk;    4. mugpe;Njh Nfh~; 

A B C D 
a.  1 3 4 2 
b.  1 2 3 4 
c.  3 1 2 4 
d.  3 1 4 2 
e. tpil njhpatpy;iy 

 
116. Kuzhal‟s mother makes dosa by mixing the batter made from 1 portion of Urad 

dhal with 4 portions of rice. Find the percentage of urad dhall used in the 
batter. 
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a. 20%  b. 25%  c. 15%  d. 18%  e. Answer not known 
1 gq;F cSe;J khTld; 4 gq;F mhprp fye;j khtpy;> Foy; vd;gthpd; jhahh; 
Njhir jahhpf;fpwhh; vdpy;> khtpypUf;Fk; cSj;jk; gUg;gpd; rjtPjkhdJ 
a. 20%  b. 25%  c. 15%  d. 18%  e. tpil njhpatpy;iy 

 
117. A fair die is thrown once. The probability of getting a prime or composite 

number is  

 a. 1  b. 
1

5
  c. 

1

6
  d. 

5

6
  e. Answer not known 

xU rPuhd gfil xU Kiw cUl;lg;gLk;NghJ fpilf;Fk; vz; gfh vz; 
my;yJ gF vz;zhf ,Ug;gjw;fhd epfo;jfT 

 a. 1  b. 
1

5
  c. 

1

6
  d. 

5

6
  e. tpil njhpatpy;iy

 
 

118. Tharun makes a deposit of Rupees two lakhs in a bank for 5 years. If the rate of 
interest is 8% per annum, find the maturity value. 
a. 2,80,000   b. 28,000    c. 80,000 

 d. 20,000    e. Answer not known 
jUz; vd;gth; ,uz;L yl;r &ghia 5 Mz;LfSf;F xU tq;fpapy; epue;ju 
itg;Gj; jpl;lj;jpy; KjyPL nra;fpd;whh;. mt;tq;fp Mz;nlhd;Wf;F 8% jdp 
tl;b jUfpd;wJ vdpy; 5 Mz;Lfs; Kbtpy; mtUf;Ff; fpilf;Fk; nkhj;jj; 
njhif vt;tsT? 
a. 2,80,000   b. 28,000    c. 80,000  
d. 20,000    e. tpil njhpatpy;iy 

 
119. Which number should come in the place of Question Mark? 

Nfs;tpf;Fwpapl;l ,lj;jpy; cs;s rhpahd vz; ahJ? 
 

 
a.6  b. 4  c.  8  d. 7  e. Answer not known 

 
120. If the price of a book is first decreased by 20% and then increased by 20% then 

the net change in the price will be   
a. No change   b. 5% increase  c. 4% decrease  
d. 10% decrease  e. Answer not known 
xU Gj;jfj;jpd; tpiyahdJ Kjypy; 20% Fiwf;fg;gl;L gpd; 20% tpiy 
Vw;wg;gl;lhy; Kbtpy; mjd; tpiyapy; Vw;gLk; khw;wj;jpd; rjtPjk; 
a. xU khw;wKk; ,y;iy  b. 5% Vw;wk;   c. 4%  FiwT   
d. 10% FiwT  e. tpil njhpatpy;iy 
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121. The “Balkan Plan” for fragmentation of India was the brainchild of 

a. W Churchil  b. MA Jinnah   c. Lord Mountbatten 
d. VP Menon   e. Answer not known 
ghy;fd; jpl;lk; vdg;gLk; ,e;jpa rpijT> ahUila %isapy; cjpj;j nfhs;if 
a. W. rh;r;rpy;   b. M.A. [pd;dh  c. kTz;l;Ngl;ld; gpu  
d. V.P. Nkdd;  e. tpil njhpatpy;iy 

 

122. Consider the following statements about the Indian National Congress 
1 Sarojini Naidu was the first woman to be the President of the Congress. 
2. CR Das was in prison when he functioned as the president of the Congress. 
3. The first Britisher to become the president of the Congress was Alan 
Octavian (AO) Hume. 
4. Alfred Webb was the President of the Congress in 1894. 
Which of these statements are correct? 
a. 1 and 3   b. 2 and 4   c. 2, 3 and 4   
d. All of these  e. Answer not known 
,e;jpa Njrpa fhq;fpui] gw;wp fPNo nfhLf;fg;gl;l fUj;Jf;fis Muha;f. 
1. ,e;jpa Njrpa fhq;fpurpd; Kjy; ngz; jiyth; rNuh[pdp ehAL 
2. C.R. jh]; ,e;jpa Njrpa fhq;fpurpd; jiytuhf ,Ue;jNghJ rpiwapy; 
,Ue;jhh; 
3. fhq;fpu]; fl;rpapd; Kjy; gphpl;b~;fhuuhd Myd; Mf;Nlhtpad; ;̀A+k; 
fhq;fpu]; fl;rpapd; jiytuhf ,Ue;jhh;. 
4. 1894k; Mz;L My;gpul; ntg; fhq;fpu]; fl;rpapd; jiytuhf ,Ue;jhh;. 
,jpy; ve;j $w;W rhp? 
a. 1 kw;Wk; 3   b. 2 kw;Wk; 4   c. 2> 3 kw;Wk; 4  
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 

123. Who among the following leaders proposed to adopt complete independence 
as the goal of the congress in the Ahmadabad Session of 1920? 
a. Abdul Kalam Azad  b. Hasrat Mohani 
c. Jawaharlal Nehru   d. Mohandas Karamchand Gandhi 
e. Answer not known 
1920k; Mz;L eilngw;w mfkjhghj; fhq;fpu]; khehl;by; KO Rje;jpuNk 
jq;fsJ ,yf;F vd Kd;nkhope;j jiyth; ahh;? 
a. mg;Jy; fyhk; Mrhj;  b. `];uj; Nkh`hdp 
c. [t`h;yhy; NeU   d. Nkhfd;jh]; fuk;re;j; fhe;jp 
e. tpil njhpatpy;iy 

 

124. With reference to the Indian freedom struggle, which one of the following 
statements is not correct? 
a. Hakim Ajmal Khan was one of the leaders to start a nationalist and militant 

Ahrar movement 
b. When the Indian National Congress was formed, Sayyid Ahmed Khan 

opposed it 
c. The All-India Muslim League was formed in 1906 vehemently opposed the 

partition of Bengal and separate electorates 



 

37 | Page  044-24339436, 42867555, 9840226187 
 

d. Maulana Barkataullah and Maulana Obeidullah Sindhi were among those 
who formed a Provisional Government of India in Kabul. 

e. Answer not known 
,e;jpa tpLjiy Nghuhl;l Fwpg;gpy; fPo;f;fz;l $w;wpy; ve;j $w;W jtwhdJ? 
a. `f;fpk; m[;ky; fhd;> Njrpa kw;Wk; ,uhZt mf;uhh; ,af;fj;jpd; 

jiyth;fspy; xUth; Mthh;. 
b. ,e;jpa Njrpa fhq;fpu]; cUthFk; NghJ nra;aJ mfkJ fhd; mij 

vjph;j;jhh;. 
c. 1906k; Mz;L mfpy ,e;jpa K];yPk; yPf; fl;rp cUthfpaTld; mJ 

fLikahf tq;fg; gphptpid kw;Wk; jdpj; njhFjp KiwiaAk; fLikahf 
vjph;j;jJ. 

d. fhG+ypy; jw;fhypf muir mikj;jth;fSs; kTyhdh guhf;fj;Jy;yh kw;Wk; 
kTyhdh xNga;Jy;yh rpe;jp MfpNahh; Kf;fpakhdth;fs; Mthh;fs;. 

e. tpil njhpatpy;iy 
 

125. Which one of the following submitted in 1875 a petition to the House of 
Commons demanding India‟s direct representation in the British Parliament? 
a. The Deccan Association   b. The Indian Association 
c. The Madras Mahajan Sabha  d. The Poona Sarvajanik Sabha 
e. Answer not known 
fPo;f;fz;l mikg;Gfspy; ve;j mikg;G 1875k; Mz;by; fhkd;]; rigapy; (nghJ 
rig) ,e;jpahtpw;F gpujpepjpj;Jtk; toq;f Ntz;Lk; vd;W kDr; nra;jJ? 
a. jf;fhz rq;fk;    b. ,e;jpa rq;fk; 
c. nrd;id kfh[d rig   d. G+dh rh;t [dpf; rig 
e. tpil njhpatpy;iy 

 
126. Match List I (Acts of Colonial Government of India) with List II (Provisions): 

List I      List II 
A. Charter Act, 1813 1. Set up a board of control in Britain to 

fully regulate the east India. 
B. Regulating Act 1773 2. Company‟s trade monopoly in India 

was ended. 
C. Act of 1858 3. The power to govern was transferred 

from the East India Company to British 
Crown. 

D. Pitt‟s India Act 4. The Company‟s Directors were asked to 
present to the British Government all 
correspondence and documents 
pertaining to the administration of the 
company. 

A B C D 
a.  2 4 3 1 
b.  1 3 4 2 
c.  2 3 4 1 
d.  1 4 3 2 
e. Answer not known 
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nghUj;Jf. 
A. 1813k; Mz;bd; rhrd rl;lk; 1. fpof;fpe;jpa fk;ngdpia 

fl;Lg;gLj;j xU FOit 
mikj;jy; 

B. 1773k; Mz;bd; xOq;FgLj;Jk; rl;lk; 2. thzpfj;jpy; fk;ngdpapd; 
jdp Mjpf;fk; Kw;W ngw;wJ 

C. 1858k; Mz;L rl;lk; 3. fpof;fpe;jpa fk;ngdpapd; 
mjpfhuk;> gphpl;B~; murpf;F 
khw;wg;gl;lJ. 

D. gpl; ,e;jpa rl;lk; 4. fk;ngdpapd; midj;J 
jfty; njhlh;Gk; eph;thfk; 
rk;ge;jkhd midj;J 
gj;jpuq;fSk; ,af;fFeh; 
FOtplk; toq;Fk;gb 
gphpl;b~; muR 
fl;lisapl;lJ 

A B C D 
a.  2 4 3 1 
b.  1 3 4 2 
c.  2 3 4 1 
d.  1 4 3 2 
e. tpil njhpatpy;iy 

 
127. With reference to colonial rule India what was sought by the Ilbert Bill in 1883? 

a. To Bring Indians and Europeans on par as far as the criminal Jurisdiction of 
courts was concerned  

b. To impose severe restrictions on the freedom of the native press as it was 
perceived to be hostile to colonial rulers 

c. To encourage the native Indians to appear for civil service examinations by 
conducting them in India  

d. To allow native Indians to posses arms by amending the arms Act 
e. Answer not known 
,e;jpahtpy; fhydpfs; Ml;rpapd;NghJ ,aw;wg;gl;l ,y;gh;l; kNrhjhtpy; vJ 
mj;jpahtrpakhdjhf fUjg;gl;lJ. 
a. ePjpkd;wj;jpy; Fw;w tprhuizapd;NghJ INuhg;gpah;fisAk;> ,e;jpah;fisAk; 

xNu fz;Nzhl;lj;jpy; mZFtJ. 
b. fhydp Ml;rpapd;NghJ RNjr gj;jphpf;iffspd; Rje;jpuj;jpw;F fLikahd 

fl;Lg;ghLfs; tpjpf;fg;gl;ld. 
c. ,e;jpah;fs; Fbikg;gzp Njh;tpy; fye;J nfhs;tjw;F Cf;fk; 

nfhLf;fg;gl;lJ. 
d. MAj rl;lj;ij epWj;jp ,e;jpah;fs; MAjk; itg;gjw;F mDkjp 

toq;Ftjw;F top Vw;gl;lJ. 
e. tpil njhpatpy;iy 

 
128. When Congress leaders condemned the Montague-Chelmsford report, many 

moderates left the party to form the 
a. Swaraj party    b. Indian freedom party 
c. Independence federation of India d. Indian liberal federation 
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e. Answer not known 
fhq;fpu]; jiyth;fs; khz;NlF-nrk;];Nghh;L mwpf;ifia Fiw $wpaNghJ 
kpjthjpfs; fl;rpapypUe;J tpyfp ve;j Gjpa fl;rpia Muk;gpj;jdh; 
a. Rtuh[; fl;rp     b. ,e;jpa Rje;jpu fl;rp 
c. ,e;jpa tpLjiy $l;likg;G  d. ,e;jpahtpy; Rje;jpukhd $l;lhl;rp 
e. tpil njhpatpy;iy 

 
129. Consider the following viceroys of India during the British rule 

1. Lord Curzon    2. Lord Chelmsford 
3. Lord Hardinge    4. Lord Irwin 
Which one of the following is the correct chronological order of their tenure? 
a. 1, 3, 2, 4  b. 2, 4, 1, 3   c. 1, 4, 2, 3   
d. 2, 3, 1, 4  e. Answer not known 
gphpl;b]; Ml;rpapypUe;j fPo;f;fz;l it];uha;fis ftdp. 
1. fh;]d; gpuG    2. nrk;];Nghh;L gpuG 
3. `hh;bq;]; gpuG    4. ,h;tpd; gpuG 
fPo;f;fz;l thpirapy; vJ mth;fspd; rhpahd fhy thpirahFk;. 
a. 1, 3, 2, 4  b. 2, 4, 1, 3   c. 1, 4, 2, 3   
d. 2, 3, 1, 4  e. tpil njhpatpy;iy 

 
130. What was Komagata Maru? 

a. Apolitical party based in Taiwan 
b. Peasant communist leader of China 
c. A navalship on voyage to Canada 
d. A Chinese village where Mao Tse Tung began his long march. 
e. Answer not known 
Nfhkfl;l khU vd;why; vd;d? 
a. ijthdpy; cs;s Xh; murpay; fl;rp 
b. rPdhtpy; cs;s coth; nghJTlik fl;rpapd; jiyth; 
c. fdlhTf;F fg;gy; %yk; gazk; 
d. rPdhtpy; kh rp jq; jdJ ePz;l eilgazj;ij Jtq;fpa ,lk; 
e. tpil njhpatpy;iy 

 
131. Where were the Ghadar revolutionaries, who became active during the 

outbreak of the World War I based? 
a. Central America  b. North America  c. West America  
d. South America  e. Answer not known 
Kjy; cyfg;Nghh; Muk;gpj;j Neuj;jpy; ve;j ehl;by; fhjh; ,af;fk; nray;gl;lJ? 
a. kj;jpa mnkhpf;fh  b. tl mnkhpf;fh  c. Nkw;F mnkhpf;fh  
d. njd; mnkhpf;fh  e. tpil njhpatpy;iy 

 
132. Who among the following drafted the resolution on Fundamental Rights for the 

Karachi Session of Congress in 1931? 
a. Dr BR Ambedkar   b. Pandit Jawaharlal Nehru 
c. Dr Rajendra Prasad  d. Sardar Vallabhbhai Patel 
e. Answer not known 
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1931k; Mz;by; fuhr;rpapy; $ba fhq;fpu]; fl;rpapd; $l;lj;jpy; mbg;gil 
chpik gw;wpa jPh;khdk; vOjg;gl;lJ? 
a. Dr. B.R. mk;Ngj;fhh;  b. gz;bl; [t`h;yhy; NeU 
c. Dr. uhN[e;jpu gpurhj;  d. rh;jhh; ty;ygha; gNly;  
e. tpil njhpatpy;iy 

 
133. Which of the following is the correct chronological order of the battles fought in 

India in the 18th century? 
a. Battle of Wandiwash, Battle of Buxar, Battle of Ambur, Battle of Plassey 
b. Battle of Ambur, Battle of Plassey, Battle of Wandiwash, Battle of Buxar 
c. Battle of Wandiwash, Battle of Plassey, Battle of Ambur, Battle of Buxar 
d. Battle of Ambur, Battle of Buxar, Battle of Wandiwash, Battle of Plassey 
e. Answer not known 
,e;jpahtpy; 18k; E}w;whz;by; eilngw;w Nghh;fspy; fPo;f;fz;l Nghh;fis fhy 
thpirapd;gb $Wf. 
a. te;jpthrp Nghh;> gf;rhh; Nghh;> Mk;G+h; Nghh;> gpshrp Nghh; 
b. Mk;G+h; Nghh;> gpshrp Nghh;> te;jpthrp Nghh;> gf;rhh; Nghh; 
c. te;jpthrp Nghh;> gpshrp Nghh;> Mk;G+h; Nghh;> gf;rhh; Nghh; 
d. Mk;G+h; Nghh;> gf;rhh; Nghh;> te;jpthrp Nghh;> gpshrp Nghh; 
e. tpil njhpatpy;iy 

 
134. Who among the following gave a systematic critique of the moderate politics of 

the Indian National Congress in a series of articles entitled „New Lamps for 
Old‟? 
a. Aurobindo Ghosh b. RC Dutt   c. Syed Ahmed Khan 
d. Viraraghavachari  e. Answer not known 
fPo;f;fz;lth;fspy; ahh; kpjthj murpaiy “Gjpa tpsf;fpy; Kjpath;fs;” vd;W 
Fiw $wpdhh; 
a. mutpe;Njh Nfh~;  b. R.C. jj;    c. ira;aJ mfk;kJ fhd; 
d. tPuuhftr;rhhp  e. tpil njhpatpy;iy 

 
135. Who among the following were official Congress negotiators with Cripps 

Mission? 
a. Mahatma Gandhi and Sardar Patel 
b. Acharya JB Kripalani and C Rajagopalachari 
c. Pandit Nehru and Maulana Azad 
d. Dr Rajendra Prasad and Rafi Ahmed Kidwai 
e. Answer not known 
fpupg;JJf;FOtplk; Ngr;R thh;j;ij elj;j mjpfhuG+h;tkhf epakpf;fg;gl;l 
gpujpepjpfs; ahh;? 
a. kfhj;kh fhe;jp kw;Wk; rh;jhh; ty;ygha; gNly; 
b. mr;rhh;ah J.B. fpUghsdp kw;Wk; uh[Nfhghyhr;rhhp 
c. gz;bl; NeU kw;Wk; kTyhd M]hj; 

d. Dr. uhN[e;jpu gpurhj; kw;Wk; u/gp mfkJ fpj;tha; 
e. tpil njhpatpy;iy 
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136. With reference to the period of Indian freedom struggle, which of the following 

was/were recommended by the „Nehru Report‟? 
1. Complete Independence for India. 
2. Joint electorate for reservation of seats for minorities. 
3. Provision of Fundamental Rights for the people of India in the Constitution. 
Which of the statement(s) given above is/ are correct? 
a. Only 1   b. 2 and 3   c. 1 and 3   
d. 1, 2 and 3   e. Answer not known 
,e;jpa tpLjiy Nghhpd; fhyj;jpy; fPo;f;fz;ltw;Ws; vJ my;yJ vitfs; NeU 
mwpf;ifapy; ghpe;Jiuf;fg;gl;lJ? 
1. ,e;jpahtpw;F KO Rje;jpuk; toq;fg;gLjy; 
2. tf;fhsh; gl;baypy; rpWghd;ikapdUf;F jdpj; njhFjpfs; toq;Fjy;. 
3. ,e;jpa murpayikg;gpy; kf;fSf;F mbg;gil chpik gw;wpa ~uj;J ,lk; 

ngw Ntz;Lk;. 
fPo;f;fz;ltw;Ws; vJ my;yJ vitfs; rhpahdJ? 
a. 1 kl;Lk;   b. 2 kw;Wk; 3   c. 1 kw;Wk; 3  
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
137. Mahatma Gandhi undertook Fast Unto Death in 1932, mainly because 

a. Round Table Conference failed to satisfy Indian political aspirations 
b. Congress and Muslim league had differences of opinion 
c. Ramsay MacDonald announced the communal award 
d. None of the Statements  
e. Answer not known 
kfhj;kh fhe;jp 1932k; Mz;L rhFk;tiu cz;zhNehd;G Nghuhl;lk; Nkw;nfhs;s 
fhuzk; vd;d? 
a. tl;lNki[ khehL ,e;jpa kf;fspd; murpay; tpUg;gj;ij epiwNtw;w 

jtwpaJ. 
b. fhq;fpu]pw;Fk; K];ypk; yPf;fpw;Fk; ,ilNa Vw;gl;l fUj;J NtWghL. 
c. uhk;Nr khf;Nlhdhy;bd; tFg;G thhp gpujpepjpj;Jtk; gw;wpa mwptpg;G 
d. Nkw;fz;l vJTkpy;iy 
e. tpil njhpatpy;iy 
 

138. With reference to Rowlatt Satyagraha, which of the following statements is/are 
correct? 
1. The Rowlatt Act was based on the recommendations of the „Sedition 

Committee‟. 
2. In Rowlatt Satyagraha, Gandhiji tried to utilise the Home Rule League. 
3. Demonstration against the arrival of Simon Commission coincided with 

Rowlatt Satyagraha. 
Select the correct answer using the codes given below 
a. 1, 2 only   b. 2 and 3   c. 1 and 3   
d. 1, 2 and 3   e. Answer not known 
ut;yl; rj;ahfpuf Fwpg;gpd; gb fPo;f;fz;l ve;j fUj;J my;yJ fUj;Jf;fs; 
rhpahdJ 
1. nusyl; rl;lk; “NjrJNuhf FOtpd;” ghpe;Jiuapd; mbg;gilapy; mike;jJ. 
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2. nusyl; rj;jpahfpuf Nghuhl;lj;jpy; fhe;jp[p jd;dhl;rp fofj;ij gad;gLj;j 
epidj;jhh;. 

3. nusyl; rj;jpahfpuf Nghuhl;lj;NjhL irkd; FO tUiff;fhd vjph;g;G 
Nguzp Nghuhl;lKk; xUq;fpize;jJ. 

a. 1> 2 kl;Lk;  b. 2 kw;Wk; 3   c. 1 kw;Wk; 3   
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
139. The educated middle class in India  

a. opposed the revolt of 1857 
b. supported the revolt of 1857 
c. remained neutral to the revolt of 1857 
d. fought against native rulers 
e. Answer not known 
fy;tpawpT ngw;w eLj;ju ,e;jpah; 
a. 1857k; Mz;L Gul;rpia vjph;j;jdh; 
b. 1857k; Mz;L Gul;rpia Mjhpj;jdh; 
c. 1857k; Mz;L Gul;rpapy; eLepiy tfpj;jdh; 
d. RNjr kd;dh;fis vjph;j;J rz;ilapl;ldh; 
e. tpil njhpatpy;iy 
 

140. When the Muslim league was inducted into the interim government in 1946, 
Lyaqat Ali Khan was assigned the portfolio of 
a. Foreign affairs  b. Home   c. Finance   
d. Defence   e. Answer not known 
1946k; Mz;L ,ilf;fhy mikr;ruitapy; K];yPk; yPf; mq;fk; tfpj;jNghJ  

 ypahfj; mypfhDf;F ve;j Jiw toq;fg;gl;lJ. 
a. ntspAwT Jiw  b. cs; Jiw   c. epjpJiw   
d. ghJfhg;G   e. tpil njhpatpy;iy 

 
141. Choose the correctly matched pairs 

I. First Indian to pass ICS – Sruendranath Banerjee 
II. First Indian ICS officer – Satyendranath Tagore 
III. First Speaker of Loksabha – G.V. Mavlankar 
IV. First Finance Minister of Independent India – John Mathai 
a. I, II, III   b. II, III, IV   c. I, III, IV 
d. All of these  e. Answer not known 
rhpahfg; nghUe;jpa ,iziaj; Njh;e;njL 
I. ICS-y; Njh;r;rp ngw;w Kjy; ,e;jpah; - RNue;jpuehj; Ngdh;[p 
II. Kjy; ,e;jpa ICS mYtyh; - rj;Nae;jpuehj; jh$h; 
III. Nyhf;rigapd; Kjy; rghehafh; - G.V. kht;yhq;fh; 
IV. Rje;jpu ,e;jpahtpd; Kjy; epjpaikr;rh; - [hd; khjha; 
a. I, II, III   b. II, III, IV   c. I, III, IV 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

142. Who was the first Indian to win World Food Prize? 
a. C. Subramanian  b. M.S. Swaminathan c. APJ Abdul Kalam 
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d. Nammalvar  e. Answer not known 
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cyf czT ghpirg; ngw;w Kjy; ,e;jpah; ahh;? 
a. C. Rg;ukzpad;  b. M.S. Rthkpehjd;  c. APJ mg;Jy;fyhk; 
d. ek;kho;thh;   e. tpil njhpatpy;iy 
 

143. Match the following 
A. First Woman Barrister    1. Cornelia Sorabjee 
B. First Woman Airline Pilot   2. Durga Banerjee 
C. First Woman Olympic medal winner  3. Karnam Malleswari 
D. First Woman Doctor    4. Kadambini Ganguly 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf 
A. Kjy; ngz; ghhp];lh;    1. fhh;dpypah nrhuhg;[p 
B. Kjy; ngz; tpkhd Xl;b (Ailines)  2. Jh;fh Ngdh;[p 
C. xypk;gpf; gjf;fk; ntd;w Kjy; ngz;  3. fh;dk; ky;Ny];thp 
D. Kjy; ngz; kUj;Jth;    4. fhjk;gpdp fq;Fyp 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

144. First Indian Woman to win gold medal on Internationl track is _________ 
a. Sakshi Malik  b. Shubangi Swaroop  c. Hima Das 
d. P.T. Usha   e. Answer not known 
rh;tNjr jlj;jpy; jq;fg;gjf;fk; ntd;w Kjy; ,e;jpa ngz; tPuhq;fid?  
a. rhf;~p khypf;  b. Rghq;fp ];t&g;    c. P̀khjh];  
d. PT c~h    e. tpil njhpatpy;iy  
 

145. Who is known as the Missile Woman of India? 
a. Valarmathi   b. Kalpana Chawla  c. Anna Mani 
d. Tessy Thomas  e. Answer not known 
,e;jpahtpd; VTfiz ngz;kzp vd;W miof;fg;gLgth; ahh;?  
a. tsh;kjp   b. fy;gdh rht;yh  
c. md;dhkzp   d. nl];]p jhk];  
e. tpil njhpatpy;iy  
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146. Choose the incorrectly matched pair 
a. The Largest lake in India – Wular Lake 
b. The Largest saline water lake in India – Chilka Lake 
c. The Largest artificial Lake in India – Govind Sagar 
d. The highest lake in India – Wular Lake 
e. Answer not known 
jtwhfg; nghUe;jpa ,iziaj; Njh;e;njL:  
a. ,e;jpahtpd; kpfg; nghpa Vhp    - cyhh; Vhp  
b. ,e;jpahtpd; kpfg;nghpa cg;G ePh; Vhp   - rpypfh Vhp  
c. ,e;jpahtpd; kpfg;nghpa nraw;if VHp  - Nfhtpe;j; rhfh;  
d. ,e;jpahtpd; kpf caukhd Vhp   - cyhh; Vhp  
e. tpil njhpatpy;iy  
 

147. Choose the correctly matched pair/s 
I. McMohan Line - India and China 
II. Radcliff Line   - India and Pakistan 
III. Durand Line  - India and Afghanistan 
a. I, II only   b. I, III only   c. II, III only 
d. All of these  e. Answer not known 
rhpahfg; nghUe;jpa ,iziaj; Njh;e;njL:  
I. nkf;Nkhfd; NfhL   - ,e;jpah kw;Wk; rPdh  
II. Nul;f;spg; NfhL   - ,e;jpah kw;Wk; ghfp];jhd;  
III. Jue;j; NfhL    - ,e;jpah kw;wk; Mg;fhdp];jhd;  
a. I, II kl;Lk;   b. I, II kl;Lk;   c. II, III kl;Lk;  
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy  
 

148. Which of the following state is not sharing its boundary with Pakistan? 
a. Jammu and Kashmir b. Himachal Pradesh  c. Punjab  
d. Gujarat   e. Answer not known 
gpd;tUtdtw;Ws; ve;j khepyk; jdJ vy;iyia ghfp];jhDld; gfputpy;iy?  
a. [k;K kw;Wk; fh~;kPh;   b. ,khr;ryg;gpuNjrk;  
c. gQ;rhg;    d. F[uhj;  
e. tpil njhpatpy;iy  
 

149. Which of the following state is known as Egg bowl of Asia? 
a. Uttarpradesh  b. Madhyapradesh  c. Andhrapradesh 
d. Tamilnadu   e. Answer not known 
gpd;tUtdtw;Ws; ve;j khepyk; Mrpahtpd; Kl;ilf; fpz;zk; vd;W 
miof;fg;gLfpd;wJ?  
a. cj;jug;gpuNjrk;  b. kj;jpag;gpuNjrk;   c. Me;jpug;gpuNjrk;  
d. jkpo;ehL    e. tpil njhpatpy;iy  
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150. Match the following 
A. National Physical Laboratory  1. 1950 
B. National Chemical Laboratory  2. 1947 
C. ISRO     3. 1969 
D. CSIR     4. 1942 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf:  
A. Njrpa ,aw;gpay; Ma;Tf;$lk;  1. 1950 
B. Njrpa Ntjpapay; Ma;Tf; $lk; 2. 1947 
C. ISRO      3. 1969  
D. CSIR      4. 1942 
 A B C D 
a. 1 2 3 4  
b. 2 1 4 3  
c. 1 2 4 3  
d. 2 1 4 3 
e. tpil njhpatpy;iy  
 

151. Match the following 
A. Rubber Board   1. Kochi  
B. Coffee Board   2. Kolkata 
C. Tea Board    3. Guntur 
D. Tobacco Board   4. Bengaluru 
E. Spices Board   5. Kottayam 
 A B C D E 
a. 1 3 2 4 5 
b. 5 4 3 2 1 
c. 1 4 2 3 5 
d. 5 4 2 3 1 
e. Answer not known 
nghUj;Jf:  
A. ug;gh; thhpak;   1. nfhr;rp  
B. fhg;gp thhpak;   2. fy;fj;jh  
C. Njapiy thhpak;   3. Fz;^h; 
D. Gifapiy thhpak;  4. ngq;f@U  
E. eWkzg; nghUl;fs; thhpak;  5. Nfhl;lak; 
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 A B C D E 
a. 1 3 2 4 5  
b. 5 4 3 2 1  
c. 1 4 2 3 5  
d. 5 4 2 3 1  
e. tpil njhpatpy;iy  
 

152. The Headquarter of National Institute of Ayurveda is located in 
a. New Delhi  b. Jaipur   c. Bengaluru 
d. Calcutta  e. Answer not known 
Njrpa MAh;Ntj epiyaj;jpd; jiyikaplk; mike;Js;s ,lk;  
a. GJ nly;yp b. n[a;g;G+h;    c. ngq;f@U    
d. fy;fj;jh   e. tpil njhpatpy;iy  
 

153. Choose the incorrectly matched pair 
a. Tropical Forestry Research Institute – Jabalpur 
b. Arid Forest Research Institute – Jodhpur 
c. Rain Forest Research Institute – Jorhat 
d. Himalayan Forest Research Institute – Ladakh 
e. Answer not known 
jtwhfg; nghUe;jpa ,iziaj; Njh;e;njL:  
a. ntg;gkz;ly td Muha;r;rp epiyak;  - [gy;G+h;  
b. twz;l fhLfs; Muha;r;rp epiyak;  - N[hj;G+h;  
c. kiof;fhLfs; Muha;r;rp epWtdk;   - N[hh;`hl;  
d. ,khyaf;fhLfs; Muha;r;rp epWtdk;   - ylhf;  
e. tpil njhpatpy;iy  

 
154. Choose the correct statements about WTO 

1. It was established on 1 January, 1995 
2. First conference of WTO held in Singapore 
3. Its Headquarter is located in Newyork  
4. Successor to the GATT which was established in 1948 
a. 1, 2 only   b. 1, 3, 4 only   c. 1, 2, 4 only 
d. All of these  e. Answer not known 
WTO (cyf th;j;jf ikak;) gw;wp rhpahd $w;Wfisj; Njh;e;njL.  
1. ,t;tikg;G [dthp 1> 1995 y; Vw;gLj;jg;gl;lJ  
2. WTO – apd; Kjy; khehL rpq;fg;G+hpy; eilngw;wJ  
3. ,jd; jiyikaplk; epA+ahh;f;  
4. ,t;tikg;G 1948 y; Vw;gLj;jg;gl;l GATT mikg;Gf;F gjpyhf 

cUthf;fg;gl;lJ.  
a. 1> 2 kl;Lk;   b. 1> 3> 4 kl;Lk;    c. 1> 2> 4 kl;Lk; 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy  
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155. Choose the incorrectly matched pair 
a. GST came into Forece – July 1, 2017 
b. Planning Commission – March 15, 1950 
c. National Development Council – 8 August, 1952 
d. NITI Aayog – 1 January, 2015 
e. Answer not known 
jtwhfg; nghUe;jpa ,iziaj; Njh;e;njL.  
a. GST mkYf;F te;j jpdk;  - [Piy 1> 2017  
b. jpl;lf; FO    - khh;r; 15> 1950 
c. Njrpa tsh;r;rp fTd;rpy;  - Mf];l; 8> 1952 
d. epjp MNahf;    - 1 [dthp 2015  
e. tpil njhpatpy;iy  
 

156. The difference between simple and compound interests compounded annually 
on a certain sum of money for 2 years at 5% per annum is Rs.3. The sum is... 
a. Rs.1200   b. Rs.2400         c. Rs.800              
d. Rs.900   e. Answer not known 
2 Mz;Lfspy;> Mz;Lf;F 5 rjtPjk; vd;w mbg;gilapy;> xU Fwpg;gpl;l 
njhiff;fhd jdp tl;b kw;Wk; Mz;L mstpy; Nrh;f;fg;gLk; $l;L tl;b 
Mfpatw;Wf;F ,ilNaahd tpj;jpahrk; &.3 vdpy;> me;jj; njhif vt;tsT? 
a. Rs.1200            b. Rs.2400            c. Rs.800              
d. Rs.900   e. tpil njhpatpy;iy 

 
157. The mean of first fifteen even numbers is _______ 
 a. 4  b. 16  c. 5  d. 10  e. Answer not known 
 Kjy; 15 ,ul;il vz;fspd; ruhrhp 
 a. 4  b. 16  c. 5  d. 10  e. tpil njhpatpy;iy 
 

158. Find out the wrong number in the following series. 15, 30, 90, 180, 540, 1090, 
3240  
a. 3240  b. 1090    c. 540   
d. 180    e. Answer not known 
gpd;tUk; vz;thpirapy; jtwhd vz;iz fz;lwp: 15, 30, 90, 180, 540, 1090, 
3240 
a. 3240  b. 1090    c. 540   
d. 180    e. tpil njhpatpy;iy 

 
159. Arun's age is half as his father. Twelve years ago, his father's age was three 

times that of Arun's, what is the present age of Arun? 
 a. 24  b. 48  c.  36  d. 12  e. Answer not known 

jw;NghJ mUzpd; taJ mtdJ je;ijapd; tajpy; ghjp. 12 Mz;LfSf;F 
Kd;G je;ijapd; taJ mUzpd; taijg; Nghy; %d;W klq;F vdpy;> 
jw;Nghija mUzpd; taJ vd;d?   
a. 24  b. 48  c.  36  d. 12  e. tpil njhpatpy;iy 
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160. Mary, Fathima and Seetha started running on the track at 4 p.m. and took 6 
minutes, 30 minutes and 5 minutes respectively to run around the track once. If 
they continued at the same speed after how much time will they meet at the 
starting point again? 
a.  90 minutes  b. 60 minutes   c.  30 minutes 
d.120 minutes  e. Answer not known 
Nkhp> ghj;jpkh kw;Wk; rPjh MfpNahh; jlthsj;jpy; khiy 4 kzpf;F 
Xlj;njhlq;fpdh;. xU Kiw jlthsj;ij flf;f 6> 30 kw;Wk; 5 epkplq;fs; 
mth;fSf;F Njitg;gl;lJ. mth;fs; mNj Ntfj;jpy; Xlj;njhlq;fpdhy;> 
mth;fs; vt;tsT Neuj;jpw;F gpwF kPz;Lk; njhlf;f Gs;spapy; re;jpg;ghh;fs;? 
a. 90 epkplq;fs;  b. 60 epkplq;fs;  c. 30 epkplq;fs;    
d.120 epkplq;fs;  e. tpil njhpatpy;iy 
 

161. Match the following 
A. NATO    1. 1949 
B. OPEC    2. 1959 
C. Non Aligned Movement 3. 1961 
D. SAARC    4. 1985 
E. Asian Development Bank 5. 1966 
 A B C D E 
a. 1 2 3 4 5 
b. 1 3 2 4 5 
c. 2 1 3 5 4 
d. 1 2 5 4 3 
e. Answer not known 
nghUj;Jf:  
A. Nel;Nlh     1. 1949 
B. OPEC     2. 1959  
C. mzpNruh ,af;fk;   3. 1961 
D. SAARC    4. 1985 
E. Mrpa tsh;r;rp tq;fp  5. 1966 
 A B C D E 
a. 1 2 3 4 5 
b. 1 3 2 4 5  
c. 2 1 3 5 4  
d. 1 2 5 4 3  
e. tpil njhpatpy;iy  
 

162. The National Forest Policy was announced in the year 
a. 1952  b. 1988   c. 2018 
d. All of these e. Answer not known 
Njrpa tdf;nfhs;if ntspaplg;gl;l Mz;L  
a. 1952  b. 1988 c. 2018   d. Nkw;$wpa midj;Jk;  
e. tpil njhpatpy;iy  
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163. Which of the following is known as the „Cradle of Space Sciences in India‟? 
a. ISRO     b. INCOSPAR   
c. Vikram Sarabhai Space Centre  d. National Physics Laboratory 
e. Answer not known 
gpd;tUtd;tw;Ws; ve;jnthd;W ",e;jpahtpd; tpz;ntsp Mwptpaypd; njhl;by;" 
vd;W miof;fg;gLfpwJ?  
a. ISRO     b. INCOSPAR  
c. tpf;uk; rhuhgha; tpz;ntsp ikak;  d. Njrpa ,aw;gpay; Ma;Tf;$lk;  
e. tpil njhpatpy;iy  
 

164. Who is known as the Moon Man of India? 
a. Vikram Sarabhai  b. K. Sivan   c. APJ Abdul Kalam 
d. Mayilsamy Annadurai e. Answer not known 
,e;jpahtpd; epyT kdpjd; vd;W miof;fg;gLgth; ahh;?  
a. tpf;uk; rhuhgha;   b. K. rptd;    c. APJ mg;Jy;fyhk;  
d. kapy;rhkp mz;zhJiu e. tpil njhpatpy;iy  
 

165. The 2024 Summer Olympic games will be held in 
a. Rio de Janeiro  b. Tokyo   c. London 
d. Paris   e. Answer not known 
2024 Mk; Mz;Lf;fhd Nfhilf;fhy xypk;gpf; tpishahl;Lfs; eilngWk; ,lk; 
a. upNah b n[dpNuh  b. Nlhf;fpNah   c. yz;ld;   
d. ghhp];    e. tpil njhpatpy;iy  
 

166. In which category, Saikhom Mirabai Chanu, represented India in the Tokyo 
2020 Olympics? 
a. 60 kg  b. 49 kg   c. 55 kg 
d. 59 kg  e. Answer not known 
2020 Nlhf;fpNah xypk;gpf;fpy; ,e;jpahtpd; rhh;ghf gSJ}f;Fjy; Nghl;bapy; ve;j 
gphptpy; rha;Nfhk; kPuhgha; rhD gq;Nfw;whh;?  
a. 60 fpNyh   b. 49 fpNyh    c. 55 fpNyh    
d. 59 fpNyh   e. tpil njhpatpy;iy  
 

167. Match the following 
A. Milkha   1. Mysore Express 
B. PT Usha   2. Dhing Express 
C. Jawagal Srinath  3. Flying Sikh 
D. Himadas   4. Golden Girl 
 A B C D 
a. 1 2 3 4 
b.  2 3 4 1 
c. 3 4 1 2 
d. 4 1 2 4 
e. Answer not known 
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nghUj;Jf:  
A. kpy;fh    1. ik#h; vf;];gpu];  
B. P.Tc~h   2. jpq; vf;];gpu];  
C. [tfy; =ehj;  3. gwf;Fk; rPf;fpah;  
D. `pkhjh];   4. jq;fkfs;  
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c.  3 4 1 2 
d. 4 1 2 4 
e. tpil njhpatpy;iy  
 

168. Choose the incorrectly matched 
a. Neeraj Chopra  - Athletics 
b. Bajrang Punia  - Wrestling 
c. Ravikumar Dahiya - Boxing 
d. None of these 
e. Answer not known 
jtwhfg; nghUe;jpa ,iziaj; Njh;e;njL.  
a. ePu[; Nrhg;uh  - jlfsk;  
b. g[;uq; Gdpah  - ky;Aj;jk;  
c. utpFkhh; jh`pah  - Fj;Jr;rz;il  
d. Nkw;$wpa VJkpy;iy  
e. tpil njhpatpy;iy  
 

169. India‟s Flag bearer for the closing ceremony of the Tokyo Olympics 2020 is 
a. Mary Kom   b. Manpreeth Singh  c. Bajrang Punia 
d. Bot a and b  e. Answer not known 
2020 Nlhf;fpNah xypk;gpf; epiwT tpohtpw;F ,e;jpahtpd; nfhbia Ve;jpr; 
nrd;wth; 
a. NkhpNfhk;   b. kdg;uPj; rpq;   c. g[;uq; Gdpah  
d. a kw;Wk; b ,uz;Lk;  e. tpil njhpatpy;iy  
 

170. Choose the correct statements about Pradhan Mantri Gramsadak Yojana 
I. It was started on 25 December 2000 
II. Centrally sponsored scheme 
III. 40% of the project funded by the states 
IV. It was started to provide all weather road connectivity to unconnected 

villages 
a. I, II, III   b. I, II, IV   c. II, IV 
d. All of these  e. Answer not known 
gpujk ke;jphp fpuhk; rjf; Nah[dh (PMGSY) gw;wpa rhpahd $w;Wfisj; 
Njh;e;njL.  
I. ,J 25 brk;gh; 2000 md;W njhlq;fg;gl;lJ 
II. kj;jpa epjpAjtp ngw;w jpl;lk;  
III. ,j;jpl;lj;jpw;F 40% epjp khepy muR toq;Ffpd;wJ 
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IV. ,izf;fg;glhj fpuhkq;fSf;F midj;J fhyepiy rhiy ,izg;ig 
tof;fj; njhlq;fg;gl;lJ.  

a. I, II, III   b. I, II, IV   c. II, IV    
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy  
 

171. The Integrated Rural Development Programme implemented in  
a. 1976  b. 1978   c. 1979 
d. 1980  e. Answer not known 
xUq;fpize;j Cuf tsh;r;rpj;jpl;lk; mky;gLj;jg;gl;l Mz;L  
a. 1976  b. 1978   c. 1979   
d. 1980  e. tpil njhpatpy;iy  
 

172. Match the following 
A. NREP   1. 1983 
B. RLEGP   2. 1980 
C. JRY    3. 1999 
D. SGSY   4. 1989 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 1 4 3 
d. 1 2 4 3   e. Answer not known 
nghUj;Jf.  
A. NREP   1. 1983 
B. RLEGP   2. 1980 
C. JRY    3. 1999 
D. SGSY   4. 1989 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4  
c. 2 1 4 3  
d. 1 2 4 3   e. tpil njhpatpy;iy  
 

173. Valmiki Ambedkar Awaas Yojana (VAMBAY) is primarily aimed at 
a. Elimination of rural poverty and unemployment 
b. Self sufficient villages 
c. Ameliorating the housing problems for the slum dwellers 
d. Toilet construction in Urban areas 
e. Answer not known 
thy;kPfp mk;Ngj;fh; Mth]; Nah[dhtpd; Kjd;ik Nehf;fk;  
a. Cuf tWik kw;Wk; Ntiyapd;ikia xopj;jy;  
b. jd;dpiwT ngw;w fpuhkq;fs;  
c. Fbirthrpfspd; tPl;Lg; gpur;ridfisj; jPH;g;gJ  
d. efh;g;Gwj;jpy; foptiw fl;Ljy;  
e. tpil njhpatpy;iy  
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174. Integrated Child Protection Scheme was introduced in 
a. 1990  b. 1992   c. 2009 
d. 2011  e. Answer not known 
xUq;fpize;j Foe;ijfs; ghJfhg;G jpl;lk; 
a. 1990  b. 1992   c. 2009   
d. 2011  e. tpil njhpatpy;iy  
 

175. The maximum age of a girl eligible for opening an account in Sukanya 
Samridhi Yojana is 
a. 6 Years   b. 8 years   c. 10 years 
d. 12 years   e. Answer not known 
Rfd;a rk;upjp jpl;lj;jpd; fPo; ngz; Foe;ij tq;fp fzf;Fj;Jtq;f mjpfgl;r 
taJ?  
a.  6 Mz;Lfs;  b. 8 Mz;Lfs;   c. 10 Mz;Lfs;  
d. 12 Mz;Lfs;   e. tpil njhpatpy;iy  
 

176. Choose the incorrectly matched pair 
a. Jandhan Yojana – Financial inclusion 
b. MUDRA Yojana -Growth of Micro Enterprises 
c. PMAY – Housing for all by 2022 
d. None of these 
e. Answer not known 
jtwhfg; nghUe;jpa ,izia Njh;e;njL.  
a. [d;jd; Nah[dh – epjp cs;slf;fk;  
b. Kj;uh Nah[dh  - FW epWtdq;fspd; tsh;r;rp  
c. PMAY  - 2022 f;Fs; midtUf;Fk; tPL  
d. Nkw;$wpa VJkpy;iy  
e. tpil njhpatpy;iy  
 

177. The Soil Health Card Scheme was introduced by 
a. Researve Bank of India  b. NABARD   
c. Ministery of Agriculture d. Both a and b 
e. Answer not known 
kz; MNuhf;fpa ml;il jpl;lj;ij mwpKfg;gLj;jpaJ  
a. ,e;jpa uprh;t; tq;fp b. eghh;L    c. Ntshz; mikr;rfk; 
d. a kw;Wk; b ,uz;Lk;  e. tpil njhpatpy;iy  
 

178. Beti Bachao Beti Padhao Scheme is primarly aimed at 
a. Prevention of gender biased sex selective elimination 
b. Ensuring education and participation of the girl child 
c. Protecting rights of girl children 
d. All of these 
e. Answer not known 
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Ngl;b gr;rht; Ngl;b gjht; (BBBP) jpl;lj;jpd; Kf;fpa Nehf;fk;  
a. ghypd rhh;G kw;Wk; ghypd njhpT ePf;fk; jtph;g;gJ 
b. ngz; Foe;ijfspd; fy;tp kw;Wk; gq;fspg;ig cWjp nra;jy;  
c. ngz; Foe;ijfspd; chpikfisg; ghJfhj;jy;  
d. Nkw;$wpa midj;Jk;  
e. tpil njhpatpy;iy  
 

179. According to 2011 censue the Population Density of Tamilnadu is 
a. 480 / km2  b. 382 / km2   c. 555 / km2 
d. 550 / km2  e. Answer not known 
2011 kf;fs; njhif fzf;nfLg;gpd;gb jkpo;ehl;bd; kf;fs; mlh;j;jp. 
a. 480 / fp.kP2  b. 382 / fp.kP2   c. 555 / fp.kP2    
d. 550 / fp.kP2  e. tpil njhpatpy;iy  
 

180. Match the following 
A. Anna University   1. 1978  
B. Annamalai University  2. 1929 
C. Thanjavur Tamil University 3. 1985 
D. Alagappa University  4. 1981 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf:  
A. mz;zh gy;fiyf;fofk;   1. 1978 
B. mz;zhkiy gy;fiyf;fofk; 2. 1929  
C. jQ;rhT+h; jkpo; gy;fiyf;fofk; 3. 1985 
D. mofg;gh gy;fiyf;fofk;  4. 1981  
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3  
c. 2 1 3 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy  
 

181. Which is known as the gateway of South India? 
a. Chennai   b. Kochi   c. Kanniyakumari  
d. Chengalpattu  e. Answer not known 
njd;dpe;jpahtpd; EioTthapy; vd;W miof;fg;gLtJ vJ?  
a. nrd;id    b. nfhr;rp    c. fd;dpahFkhp  
d. nrq;fy;gl;L   e. tpil njhpatpy;iy  
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182. First women Vice President of United States 
a. Kamala Harris  b. Hilari Clinton  c. Jeanette Rankin 
d. Katherine Graham e. Answer not known 
mnkhpf;fhtpd; Kjy; ngz; Jizf; FbauRj; jiyth;  
a. fkyh N`hp];   b. `pyhhp fpspz;ld;  c. N[dl; uhd;fpd;  
d. Nfjhpd; fpu`hk;  e. tpil njhpatpy;iy  
 

183. Which is the first University of the World? 
a. Nalanda University  b. Pushpagiri 
d. Valabhi University  d. Vikramasila University 
e. Answer not known 
cyfpd; Kjy; gy;fiyf;fofk; vJ?   
a. ehse;jh gy;fiyf;fofk;  b. G~;gfphp 
c. ty;ygp gy;fiyf;fofk;   d. tpf;ukrPyh gy;fiyf;fofk;  
e. tpil njhpatpy;iy  
 

184. Which is the First Country to grant citizenship to robot? 
a. Canada  b. China   c. Saudi Arabia 
d. Russia  e. Answer not known 
NuhNghtpw;F FbAhpik toq;fpa Kjy; ehL vJ?  
a. fdlh  b. rPdh   c. nrsjp mNuhgpah   
d. u~;ah   e. tpil njhpatpy;iy  
 

185. The longest Mountain Range in the World is 
a. Himalayas  b. Andes   c. Alps 
d. Rockies  e. Answer not known 
cyfpd; kpf ePz;l kiyj;njhlh; vJ?  
a. ,kakiy  b. Mz;b];   c. My;g;];    
d. uhf;fp];   e. tpil njhpatpy;iy  
 

186. Which of the following strait connects Red Sea and Mediterranean Sea? 
a. Bering Strait  b. Panama Strait  c. Palk Strait 
d. Suez Strait  e. Answer not known 
nrq;fliyAk; kj;jpa jiuf;fliyAk; ,izf;Fk; ePh;re;jp vJ?  
a. nghpq; ePh;re;jp  b. gdhkh ePh;re;jp  c. ghf; ePh;re;jp  
d. #a]; ePh;re;jp   e. tpil njhpatpy;iy  
 

187. Choose the incorrectly matched pair 
a. Nepal – Rashtriya Panchayat  b. Russia – Bundestag 
c. South Africa – Parliament  e. None of these 
e. Answer not known 
jtwhfg; nghUe;jpa ,iziaj; Njh;e;njL.  
a. Neghsk; - uh~;l;hpa gQ;rhaj;  b. u~;ah – gz;l];lhf;  
c. njd; Mg;gphpf;fh – ghh;ypnkz;l;  d. Nkw;$wpa VJkpy;iy  
e. tpil njhpatpy;iy  
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188. Match the following 
A. Father of Economics  1. Adamsmith 
B. Father of Geography  2. Eratosthenes 
C. Father of Sociology  3. Augustus Comte 
D. Father of Political Science 4. Aristotle 
 A B C D  
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf:  
A. nghUspaypd; je;ij   1. Mlk;];kpj;  
B. Gtpapaypd; je;ij  2. VuNlh];njdp];  
C. r%ftpaypd; je;ij  3. mf];l]; Nfhk;Nl  
D. murpay; mwtpd; je;ij 4. mhp];lhl;by;  
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4  
d. 2 1 4 3  
e. tpil njhpatpy;iy  
 

189. Who is the father of Nanotechnology in India? 
a. V.P. Bhatkar  b. APJ Abdul Kalam  c. Raj Reddy 
d. C.V. Raman  e. Answer not known 
,e;jpahtpd; ehNdhnjhopy;El;gj;jpd; je;ij ahh;?  
a. V.P. gl;fh;   b. APJ mg;Jy;fyhk;   c. uh[; nul;b  
d. C.V. uhkd;   e. tpil njhpatpy;iy  
 

190. Grammy Award is related to 
a. Literatur   b. Dance   c. Music 
d. Film   e. Answer not known 
fpuhkp tpUJld; njhlh;GilaJ  
a. ,yf;fpak;   b. eldk;    c. ,ir    
d. jpiug;glk;   e. tpil njhpatpy;iy  
 

191. Which is the First IIT started in India? 
a. IIT Kanpur   b. IIT Roorkee  c. IIT Kharaghpur 
d. IIT Madras  e. Answer not known 
,e;jpahtpd; njhlq;fg;gl;l Kjy; IIT ,e;jpa njhopy;El;g fofk; vJ?  
a. IIT fhd;G+h;   b. IIT &h;fp    c. IIT fhuf;G+h;   
d. IIT nkl;uh];   e. tpil njhpatpy;iy  
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192. Central Electro Chemical Research Institute was established in 
a. 1951  b. 1952   c. 1953  
d. 1954  e. Answer not known 
kj;jpa kpd;Ntjpapay; Ma;T ikak; njhlq;fg;gl;l Mz;L  
a. 1951  b. 1952   c. 1953   
d. 1954  e. tpil njhpatpy;iy  
 

193. Match the following 
A. Tamil Virtual Academy   1. 1999 
B. First Tamil Internet Conference  2. 2001 
C. Second Tamil Internet Conference 3. 2015-16 
D. Tamil Digital Library   4. 1997 
 A B C D 
a. 1 4 2 4 
b. 3 1 2 4 
c. 4 3 2 3 
d. 2 4 1 3 
e. Answer not known 
nghUj;Jf:  
A. jkpo; ,izaf; fy;tpf;fofk;  1. 1999 
B. Kjy; jkpo; ,iza khehL  2. 2001 
C. ,uz;lhk; jkpo; ,iza khehL 3. 2015 – 2016 
D. jkpo; kpd; E}yfk;    4. 1997  
 A B C D 
a. 1 4 2 4 
b. 3 1 2 4  
c. 4 3 2 1  
d. 2 4 1 3 
e. tpil njhpatpy;iy  
 

194. Origin of the Porunai River is 
a. Pothigai Hills  b. Chenna Kesavarayan Hills c. Anaimudi Hills 
d. Palani Hills  e. Answer not known 
nghUie Mw;wpd; gpwg;gplk; 
a. nghjpif kiy  b. nrd;dNfrtuhad; kiy  c. MidKb kiy 
d. godp kiy   e. tpil njhpatpy;iy  
 

195. Which of the following state received first price in National Water Awards? 
a. Rajasthan   b. Uttarpradesh  c. Tamilnadu 
d. Karnataka   e. Answer not known 
Njrpa ePh; tpUJfspy; Kjyhk; ghpir ntd;w khepyk; vJ?  
a. uh[];jhd;    b. cj;jug;gpuNjrk;  
c. jkpo;ehL     d. fh;ehlfk;  
e. tpil njhpatpy;iy  
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196. Find the sum of 0.40 + 0.43 + 0.46 +….+1. 
a.21  b. 40  c.  14.7  d. 16.8  e. Answer not known 
0.40 + 0.43 + 0.46 +….+1 vd;w njhlhpd; $Ljy; fhz;f 
a.21  b. 40  c.  14.7  d. 16.8  e. tpil njhpatpy;iy 

 
197. A circular shaped gymnasium ring of radius 35cm is divided into 5 equal arcs 

shaded with different colours. Find the length of each of the arcs. 
a. 14  cm  b. 26.5  cm    c. 7.5  cm   
d. 35  cm  e. Answer not known 
35 nr.kP MuKs;s tl;l tbtpyhd [pk;dh];bf; tisakhdJ 5 rk msTs;s 
tpw;fshfg; gphpf;fg;gl;L ntt;NtW epwq;fspy; tz;zkplg;gl;Ls;sJ. vdpy;> 
xt;nthU tl;l tpy;ypd; ePsj;ijAk; fhz;f. 
a. 14  cm  b. 26.5  cm    c. 7.5  cm   
d. 35  cm  e. tpil njhpatpy;iy 

 

198. Find the C.I for Principal = ₹30000, r = 7% for I year, r = 8% for II year, 
compounded annually. 
a.4868   b. 4866    c. 8664   
d. 4668  e. Answer not known 
mry; = ₹ 30000 Kjyhk; Mz;L tl;b tPjk; r = 7% ,uz;lhk; Mz;L tl;b 
tPjk; r = 8% Mz;Lf;F xU Kiw tl;bf; fzf;fplg;gLfpwJ vdpy; $l;L 
tl;bia fhz;f 
a.4868   b. 4866    c. 8664   
d. 4668  e. tpil njhpatpy;iy 

 
199. A water pipe can fill an empty tank in 50 minutes while another pipe can 

empty the filled tank in 1
1

4
 hours. How long minimum time with it take to fill 

the emptied tank when both pipes are opened simultaneously? 

      a. 1 
1

4
 hours         b. 2 

1

4
 hours    c. 2 

1

2
 hours     

d. 3 hours   e. Answer not known 
xU jz;zPh;j; njhl;bia ePh; tpOk; Foha; xd;W 50 epkplq;fspy;   epug;GfpwJ.  

ePh; ntspNaw;Wk; kw;nwhU Foha; MdJ epuk;gpa njhl;bia 1
1

4
 kzp Neuj;jpy; 

fhyp nra;J tpLfpwJ. ,uz;L Foha;fSk; xNu rkaj;jpy; jpwe;J tplg;gl;lhy;> 
fhypahf ,Uf;Fk; jz;zPh;j; njhl;b epuk;Gtjw;F vLj;Jf; nfhs;Sk; 
Fiwe;jgl;r Neuk; vt;tsT?  

a.  1
1

4
kzp   b. 2

1

4
 kzp   c. 2

1

2
 kzp   

d. 3 kzp  e. tpil njhpatpy;iy 
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200. Select the option that is related to the third term in the same way as the second 
term is related to the first term.  
Bird : Wings :: Fish : ? 
a. Fins   b. Gills   c. Scales   
d. Swim  e. Answer not known 
,uz;lhtJ nrhy; Kjy; nrhy;Yld; njhlh;GilaJ NghyNt %d;whtJ 
nrhy;Yld; njhlh;Gila nrhy;iy Njh;e;njLf;fTk;. 
gwit : ,wf;iffs; :: kPd; ? 
a. JLg;Gfs;  b. nrTs;fs;   c. nrjpy;fs; 
d. ePr;ry;  e. tpil njhpatpy;iy 

 
 

 
 

 
 
 
 
 
 


